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CIFA PART Il SECTION 5
ALTERNATIVE INVESTMENTS ANALYSIS
FRIDAY: 27 November 2020. Time Allowed: 3 hours.
Answer ALL questions. Marks allocated to each question are shown at the end 01; the question. Show ALL your workings.
QUESTION ONE
(a) Securitisation may be the wave for the future as it appears to be a more efficient mechanism for bringing borrowers

and mvestors together than traditional financing through intermediaries. This was the closing remark by a presenter in
a securitisation seminar.

Required:

In relation to the above statement:

(1) Explain the term “securitisation”. (2 marks)

(i1) Discuss three benefits that may accrue to a company that uses securitisation in its operations. (3 marks)
(b) Nancy Chepkonga recently retired from employment and received a lumpsum pension benefit. The company had

earlier arranged for a retirement planning seminar where one of the presenter noted that one can generate superior
returns in their portfolio by incorporating alternative investments. Nancy is naive about these new products and has
approached you for professional advice.

Required:
In light of the above statement, advise Nancy on two pros and two cons of alternative investments for retirees.
(4 marks)

(c) Evaluate three outside service providers involved during creation and operationalisation of alternative investments in

your couniry. (6 marks)
(d) An investment analyst working with Lion Capital has gathered the following data relating to four collateralised

mortgage obligation (CMO) tranche:

Security Nominal Spread comparison Option adjustment

Spread (%) Zero volatility spread (%) Spread (%)

1 249 1.96 —0.01

2 3.74 1.53 0.37

3 2.16 1.72 0.71

4 1.83 1.39 -0.33

Regquired:

Adyise on the most appropriate security for the investment analyst to invest in. (5 marks)

(Total: 20 marks)

QUESTION TWO

(a) Explain the meaning of the following terms as used in private equity:
(1) An angel investor. (1 mark)
(ii) An incubator. (1 mark)
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(iii)  Mezzanine capital. (1 mar k}(’o\(\
(iv) Acceleration. (1 &@{K?

O

(b) The following are the details of Gemini Fund with a vintage year of 2017 and a committed capital of Sh.1 .QS'Zﬁﬂlion:

Venture capital for Gemini Fund I §

Year Called-Down Management fee Operating results
Sh.“million”  Sh.*million” Sh.*“million”

2017 300 4.5 (100)

2018 250 8.3 550

2019 750 19.5 750

Additional information:
1= The distribution waterfalls calls for a 20% carried interest when Net Asset Value (NAV) before distribution
exceeds committed capital. !

2. The Gemini Fund is considering a new investment in Orion Company Limited. Orion Limited is a start-up
Biotechnology Company seeking Sh.90million in venture capital financing. Orion’s founders believe that,
based on the company’s new drug pipeline, a company value of Sh.3 billion is reasonable in five years.

3 The management at Gemini Fund views Orion Limited as a risky investment (15% risk of failure) and is
using a discount rate of 40%.

Required:
(1) Percentage management fee for Gemini Fund for the year 2019. (2 marks)
(i) The amount of carried interest for Gemini Fund for the year 2019. (4 marks)

(iid) The Orion Limited’s post money valuation using single period Net Present Value (NPV) method. (2 marks)

(iv) Assuming that Orion founders will hold 2.5 million ordinary shares of Orion Limited and that the post
valuation is Sh.900 million, determine the price per share for the venture capital. (3 marks)
(e) Amita Adeyo is a real estate analyst and has gathered the following data relating to a real estate proposal:
1% The market value of the land using comparables is Sh.12,500,000.
2. The total area is 2.5 million square feet.
3. The replacement cost and developer’s profit is Sh.6.30 per square foot.
4. Curable deterioration is Sh.100,000.
3. The total economic life is 75 years and effective age is 15 years.
6. All estimated obsolescence costs are Sh.500,000.
Required:
Determine the estimated value of the real estate proposal using the cost approach. (5 marks)
(Total; 20 marks)
QUESTION THREE
(a) Describe five key attributes of both timberland and farmland as types of alternative investments. (5 marks)
(b) Assess five control mechanisms used by hedge funds to align interest of the managers of portfolio companies with the
hedge fund’s interest. (5 marks)
(c) A global hedge fund has a value of Sh.100 million at the beginning of the year. The fund charges a 2% management

fee based on assets under management (AUM) at the end of the year and a 20% incentive fee with a soft hurdle rate of
London Interbank Offered Rate (LIBOR) plus 2.5%. Incentive fees are calculated net of management fees. The
relevant LIBOR rate is 2.5% and the fund’s value at the end of the year before fees is Sh.120 million.

Required:
The net return to investors. (3 marks)
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Joram Muhia believes he has identified an arbitrage opportunity for a commodity as indicated by the infori@%n
below: O
>
Commodity price and interest rate information: (Q(b?,
Spot price for commodity Sh.120 . .
Futures price for commodity expiring in 1 year Sh.125
Interest rate for one year 8%
Required:
(i) Describe the transactions necessary to take advantage of this specific arbitrage opportunity. (2 marks)
(ii) Calculate the arbitrage profit. (2 marks)
(iii) Propose three market imperfections that could limit Joram’s ability to implement this arbitrage strategy.
(3 marks)

(Total: 20 marks)

QUESTION FOUR

(a) Explain two advantages and two disadvantages of issuing mezzanine debt. (4 marks)
(b) A collateralised debt obligation (CDO) structure has Sh.100 million in issue which is the collateral:
Tranche Par value (Sh.“million™) Coupon rate
Senior 80 LIBOR + 70 basis point
Mezzanine 10 10 year Treasury bond rate + 200 basis point
Equity 10 -
The collateral consist of all bonds that mature in 10 years and that the coupon rate for every bond is the 10 year
Treasury bond rate plus 400 basis point.
The manager of the trust has entered into an interest rate swap under which the trust will pay a fixed rate each year
equal to the 10 year Treasury rate plus 100 basis point and receive LIBOR. The notional amount of the interest rate
swap is the par value of the senior tranche.
The 10 year Treasury bond rate at the time this CDO is issued is 7%. The CDO’s management fee is Sh.500,000.
Required:
(1) The arbitrage profit from this collateralised debt obligation (CDO) transaction. (8 marks)
(ii) Describe two motivations of creating a collateralised debt obligation in (b) (i) above. (2 marks)
(c) Faida Consultants is reviewing various mortgage backed securities (MBS) for its clients. The consultants are interested
in calculation of a single monthly mortality (SMM) rate. The consultants use the Public Securities Association (PSA)
standard prepayment benchmark. They also calculate the sum for month 22, assuming a 140 PSA to be 0.37%. They
also calculate the SMM for month 200, assuming a 90 PSA to be 0.46%.
Required:
Justify the validity of their estimates for months 22 and 200. (6 marks)
(Total: 20 marks)
QUESTION FIVE
(a) Evaluate three factors that could affect prepayment behavior for mortgage backed securities (MBS). (6 marks)
(b) Nyumba Investment Company is a member-owned property investment firm whose main objective is to invest in

domestic homes. The company has partnered with a local bank for financing of its two projects.

The following housing units are complete and available for sale:

Bungalows units Sh.

BY-A 3,980,000
BY-B 8,540,000
BY-C 9,750,000
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Additional information:
O{Q

1 The gross project value is Sh.1.565 billion.

2. The loan finance available is Sh.867 million Q'((\

3 The units will be paid at 133% of the rate at which revenue will be received. (0(0'6

Required: ‘ 3

The release price for each house unit. (4 marks)
(c) Ayub Kimeu is analysing two specific apartments. Blue Oaks apartment and Green Ridge apartment. Both apartments

are next to each other and were built 10 years ago by the same construction company. The apartments have the same
number of units and amenities. The apartments are also managed by the same property management company.

The following information relates to the two apartments:

Blue Oaks Apartment Green Ridge Apartment

Annual net operating income end of year 1 Sh.2,187,500 2 Sh.2,125,000

Loan to value (LTV) ratio 75.0% 70.0%

Loan interest rate 4.00% 3.50%

Monthly debt service Sh.113,621 Sh.101.,493

Loan term 20 years 20 years
Expected sale price in 10 years Sh.30 million Sh.30 million
Principal owed at the end of 10 years Sh.11,222,397 Sh.11,144,755
Asking price Sh.25 million Sh.25 million

A pension fund can buy one or both apartments provided they meet the minimum criteria of a debt service coverage
ratio of at least 1.50 times and a levered internal rate of return (IRR) of at least 17.5%.

Required:
Determine whether one or both apartments meet the minimum criteria for investment. (10 marks)
(Total: 20 marks)

..........................................................................
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Present Value Interest factor of 1 Received at the End of n Periods at r Percent:

PVFFr,n= 1/(’.’+r)n =(1 +r)'"

Period | 1% = % % W | 6% | T | B | 0% | 10% | 1% | o | 43% | 1% | 19% | 16%

b 59001 | 05804 | 09705 | 09615 | 09524 | 09434 | 09346 | 00059 | 09974 | 09091 | 0.9000 | 08929 | 0.8850 | 08772 | 0.8606 | 0.8631 L8103

2 | 060603 | 09512 | 09426 | 09246 | 0.9070 | 0.8900 | 08734 | 0.8573 | 08497 | 0.8264 | 0.8116 | 0.7972 | 0.7831 | 0.7695 | 0.7561 | 0.7432 | 0.6944

3 | 05706 | 08423 | 09151 | 08890 | 0.8638 | 0.8306 | 0.6163 | 0.7938 | 0.7722 | 0.7513 | 0.7312 | 0.7118 | 0.6031 | 0.6750 | 0.6575 | 0.6407 | 0.5787

i 0.9610 | 09238 | 0.8885 | 03548 | 08227 | 07921 | 0762 | 67350 | 07084 | 0.5830 | 0.6587 | 0.6355 | 0.6133 | 0.5021 | 0.5718 | 0.5523 | 04823

5 | 09515 | 0.9057 | 0.8626 | 0.8210 | 0.7835 | 0.7473 | 0.7130 | 0.6806 | 0.6499 | 0.6200 | 0.5035 | 0.5674 | 0.5428 | 0.5194 | 04572 | 0.4761 | 04010

L 09420 | o8see | 08375 | 07903 | 07462 | o7oso | 0.6663 | 06302 | 05063 | 05645 | 6.5346 | 05066 | 0.4803 | 0.4556 | 0.4323 | 0.4104 | 0.3340

4 09327 | 08706 | 08131 | 07590 | 07107 | 08851 | 06227 | 05835 | 05470 | 05132 | 04817 | 04523 | 04951 | 03906 | 0.3758 | 03538 | 09791

8 09235 | 0.8535 | 07894 | 0.7307 | 06768 | 06274 | 05820 | 05403 | 05018 | 04665 | 0.4339 | 04038 | 0.3762 | 0.3506 | 0.3269 (3050 | 0.2396

) 09143 | 08368 | O.7664 | 07026 | 0.6445 | 0.590 | 05430 | 0.5002 | 0.4604 | 0.4241 | 03900 | 0.3606 | 0.3329 | 0.3075 | 02043 | 02630 | 0.1938

A8, | 00053 | 0.8203 | 0.7441 | 06756 | 0.61 35 | 05584 | 05083 | 04632 | 0.4724 | 03855 | 03522 | 0.3220 | 0.2046 | 0.2697 | 0.2472 | 02357 | 0.1615

" 08953 | 08043 | 07224 | 05406 | D.5847 | 05268 | 04751 | 04289 | 0.3675 | 0.3505 | 0.3173 | 02675 " 02607 | 02366 | 02148 | 01954 | 0.1M6

12 0.8874 | 07885 | 0.7014 | 0.6246 | 0.5568 | 0.4970 | 0.4440 | 03971 | 03555 | 0.3186 | 02850 | 02567 | ©.2307 | 02076 | 0.1868 | 0.1685 | 0.1122

13 | 0.8787 | 07730 | 06810 | 0.6006 | 0.5305 | 04688 | 0.4150 | 09677 | 03262 | 0.2897 | 0.2575 | 02282 | e2042 | 09821 | 0.9635 | 0.1452 | 0.0935

14 | 08700 | 0.7579 | 06611 | 05775 | 05051 | 04423 | 03678 | 03405 | 02002 | 02633 | 02320 | 0.2046 | 01807 | 04597 | 09413 | 04252 | 0.0779

15 0.8613 | 07430 | 05419 | 05553 | 64810 | 04173 | 03624 | 03152 | 02745 | 02304 | 0.2000 | 0.1827 | 0.9500 | 01401 | 0.1220 | 0.1079 | 0.0649
...v,.“ | 08528 | 07284 | 06232 | 05338 I!ABB‘_I 03936 | 03387 | 02919 | 02518 | 02176 | 04983 | 04631 | 09415 | 04220 | 0.1060 | 0.0930 | 0.0541

17 084sd | 07142 | nsose | 05134 | 04363 | 03714 | 03166 | 02700 | 02011 | 0.1978 | 0.1696 | 0.1456 | 0.1252 | 0.1078 | 0.0920 | 0.0802 | 0.0451

18 08360 | 07007 | 05874 | 04936 | 04155 | 03563 | o205 | 02502 | 02120 | 0.4799 | 01528 | 0.1300 | 0.9108 | G.004G | 0.0808 | 0.0601 | 0.0376

19 0.8277 | 068564 | 0.5703 | 04746 | 03957 | 03305 | 02765 | 02317 | 04945 | 61635 | 04377 | 0.1161 | 0.0061 | 0.8829 | 0.0763 | 00596 | 0.0513

20 08195 | 06730 | 0557 | 0.4564 | 03768 | 03118 | 02584 | 02145 | 01724 | 0.9486 | 01240 | 0.9037 | 0.0868 | 0.0728 | 0.0611 | 0.0514 | 0.0061

21 | 08114 | 06508 | 05075 | 0.4388 | 0580 | 0.2042 | 02415 | G.1987 | 01637 | 0.1351 | 0.1917 | 0.0026 | 0.0768 | 0.0638 | 0.0531 | 0.0443 | 0.0217

32 | 08034 | 05458 | 05219 | 04220 | 03418 | 02775 | 02257 | 0483 | 04502 | 04228 | 04007 | 0.0826 | 0.0680 | 0.0560 | 0.0462 | 0.0382 | 0.0181

73 | 0.7954 | 65342 | 05067 | 04057 | 03256 | 0.2618 | 0.2100 | 04703 | 61378 | 04117 | 0.0007 | 0.0738 | 0.0601 | 0.0491 | 0.0402 | 0.0328 | 0.0151

24 0.7876 | 06217 | 04919 | 03901 | 03101 | o2470 | oa971 | 04577 | 04264 | 01915 | 0.0817 | 0.0659 | 0.0532 | 0.0431 | 0.034¢ | 0.0284 | 0.0126

5 07798 | 0.6095 | 0.4776 | 03751 | 62053 | 02330 | o842 | 01480 | 01160 | 0.0923 | 0.0736 | 0.6588 | 0.0471 | 00078 | 0.0004 | 0.0245 | 0.0105

a0 07419 | 05521 | 04120 | 03083 | 02314 | 04741 | 04914 | 0.0004 | 06754 | 0.0573 | 0.0437 | 0.0334 | 0.0256 | 0.0196 | 0.0151 | 0.0116 | 0.0042

35 | 0.7059 | 05000 | 03554 | 02534 | 0.4813 | 0.1301 | 0.0037 | 0.0676 | 0.0490 | 0.0356 | 0.0259 | 0.6183 | 0.0138 | 0.0102 | 0.0675 | 0.0055 | 0.0017

36 06088 | 04902 | 03450 | 02457 | 04727 | 04237 | 06875 | 0.0626 | 0.0449 | 0.0323 | 0.0234 | 00169 | 00123 | 0.0089 | 0.0065 | 0.0048 | 0.0014

a0 | 06717 | 04529 | 03085 | 02083 | 0.1420 | 0.0972 | 0.0668 | 00460 | 0.0318 | 0.0221 | 0.0154 | 0.0107 | 0.0075 | 00053 | a.0057 | 0.0026 | 0.0007
|50 [ 05080 [ 03715 | 02281 | 01407 | 0.0872 | 0.0543 | 00339 | 00213 | 0034 | 0.0085 | 00054 | 0.0035 | 0.0022 | 00014 | 0.0009 | 0.0006 | -

Present Value Interest factors for Annuity of 1 Discounted at r Percent for n Periods:
PVIFA .o = [1— 1/ (1+1) "] /r

Period 1% F i e #% &% 5% T 8% 0% 10% 1% 1% 13% 14%% 15% 16%. % 245 | 25%] 0%
1 69001 | 09204 | 0o7e9 | 00615 | 09524 | 09434 | 00348 | 00250 | 09174 | 02091 | 09009 | 08929 | 0.8850 | 08772 | 08506 | 6.6 08333 | 08065 | 08000 | 0.7652
2 1.0704 | 19476 | 10135 | 18861 | 18594 | 1830 | 18080 | 17833 | 17501 | 1.7355 | 1.7125 | 1.6901 | 1.6681 | 1.6467 | 16257 | 1.6052 | 1.5078 14566 | 1.4400 | 13809
3 20410 | 28800 | 28286 | 27751 | 27232 | 26730 | 26243 | 25771 | 25313 | 24060 | 24437 | 248 | 23612 | 23216 | 22832 | 22459 21065 | 19813 1.9520| 18161
4 30020 | 38077 | 37170 | 36298 | 35460 | 34851 | aossv2 | 30121 | 39397 | 34699 | 31024 | 30373 | 29745 | 20137 | 28550 | 27082 | 25887 | 24043 23616 | 21662
5 | 48534 | 47135 | AS797 | A4A518 | 43295 | 42124 | 41002 | 39927 | 38807 | 3.7008 | 5605 | 36048 | 35172 | 34331 | 33522 | 32743 | 29906 | 27454 | 2.6803 | 24356
) 57955 | 56014 | 54172 | 53421 | 50757 | 49173 | 47685 | 46220 | 44859 | 4.3553 47305 | 41114 | 30075 | 3888y | 37845 | 36847 | 33255 | 30205 | 29514 | 26427 |
i 67282 | 64720 | 52303 | Go021 | 57804 | 55824 | 53803 | 52064 | 50330 | 48684 | 47122 | 45638 | 44006 | 42883 | 4.1604 | 40386 | 3.6045 33243 | 31611 | 2804
8 76517 | 73255 | 70197 | 67327 | 64632 | 62008 | 59713 | 57466 | 55348 | 53340 | 51461 | 4.0676 | 47968 | 4.6380 | 44873 | 43336 | 38372 | 34212 | 39289 2807
i B.5600 | 81622 | 7.7861 | 7.4353 | 71078 | 68017 | 65152 | 62469 | 59052 | 5.7500 | 55370 | 53282 | 5137 | 49464 | 47716 | 4.6065 | 4.0310 15655 | 34631 | 30190
1% 04713 | somes | 85wz | 1108 | 77217 | 73601 | 70236 | 67101 | 64177 | 61446 | 58602 | 56502 | 54262 | 5.2161 | 50188 | 4.8332 41925 | 36819 | 3.5705 | 30815
i 10368 | 9.7868 | 9.2526 | 2.7605 | 83064 | 7.8860 | 7.4967 | 71300 | 6.BOS2 | 64851 | 62065 | 59377 | 56869 | 54507 | 52337 | 50286 | 43271 | 37757 36564 | 34473
12 11.255 | 10575 | oes40 | 03851 | 88633 | 83838 | 70427 | 75361 | 7.9607 | 68137 | 54024 | 6.1044 | 59176 | 56603 | 54206 | 51971 | 44392 38514 | 37251 | 31903
13 12134 | 11.048 | 10.635 | 90856 | 03036 | B.8527 | 83577 | 79038 | 74869 | 74034 | 67490 | G435 | 64MB | S840 | 55831 | 53423 | 4587 | 39124 | 3.7801 32233
14 13.004 | 12.106 | 11296 | 10.563 | 98086 | 93950 | 8.7455 | 82442 | 77862 | 7.3667 | 6.0819 | 6.6282 | 63025 | 6.0021 | 57245 | 54675 | 4.6106 | 39616 38241 | 32487 |
1% 13.665 | 12849 | 11.938 | 19418 | 10380 | 07422 | o079 | 85505 | 80607 | 7.6061 | 7.1000 | 68109 | 6.4624 | 6.1422 | 58474 | 55755 | 46755 | 40013 38583 | 12682
15 14.718 | 13.578 | 12.561 11.652 | 10.838 | 10.106 | 9.4466 | 88514 | 83126 | 7.8237 | 73702 | 69740 | 66039 | 62651 | 50542 | 56685 | 4.7296 | 40333 | IB674 | 32632
17 15562 | 14292 | 13160 | 12.466 | 11.274 | 10477 | 97632 | 94216 | 85435 | 8.0216 | 7.5488 | 7.1196 | 67201 | 63729 | G072 | 57487 | 47746 | 40591 | 39099 32048
18 16398 | 14902 | 13.754 | 1265 | 11.690 | 10.828 | 10050 | 03719 | 8.7556 | 82014 | 7.7016 | 7.2497 | 68300 | 6.4674 | 61280 | 58178 | 46122 | 40739 39779 | 33057
19 17226 | 15618 | 14324 | 13934 | 12085 | 11458 | 10336 | 06036 | 8.9501 | 83640 | 7.8393 | 7.3658 | 6.0380 | 6.5504 | 6.1982 | 58775 | 4.8435 40067 | 39424 | I35
H 18046 | 16351 14877 | 13500 | 12462 | 11470 | 10594 | osimt | 04285 | 85136 | 7.9633 | 7.4604 | 7.0248 | 66231 | 62503 | 5.9288 | 4.8606 | 41103 | 39539 33158
Fal 18857 | 17.011 15415 | 14029 | 12821 | 110.764 | 10836 | 10017 | 92022 | 86487 | 8.0751 | 7.5620 | 7.1016 | 6.6870 | 63125 | 59731 | 4.8913 | 41212 | 30631 | 3.3198
ol 19.660 | 17.658 | 15037 | 14451 | 13163 | 12042 | 19061 | 10201 | 94424 | 87715 | 81757 | T.5446 | 7.1685 | 6.7429 | 6.3587 | 60113 | 4.9094 41300 | 39705 | 33230
s 20.456 | 18.292 | 16.444 | 14857 | 13489 | 12363 | 14272 | 10371 | 05002 | 8.8832 | 82664 | 77984 | 7.2207 | 67921 | G3988 | 60447 | 48345 | 41371 39764 | 33254
24 21203 | 18014 | 16936 | 15247 | 13700 | 12550 | 11.460 | 10523 | 9.7066 | 8.9847 | 8.3481 | 7.7843 | 7.2800 | 68351 | 64338 | 60726 | 49071 41428 | 30811 | 13272
25 22023 | 19523 | 17413 | 15622 | 14084 | 12783 | 11654 | 10675 | 08226 | 2.0770 | 84217 | 7.8431 | 7.3300 | 6.8729 | 64641 | 6.0971 | 40476 | 41474 | 39849 33285
3 25.808 | 22396 | 19.600 | 17.292 | 15372 | 13.765 | 12409 | 11.258 | 10974 | 94260 | 8.6938 | 80552 | 74857 | 70027 | 65660 | 61772 | 49780 | 41601 | 39950 3zan
35 29400 | 24008 | 21487 | 48665 | 16374 | 14408 | 12048 | 11655 | 10.567 | 96442 | 8.8550 | B.1755 | 7.5856 | 7.0708 | 6.6166 | 6.2153 | 4.0015 | 4.1644 30984 | 33340
36 30108 | 25480 | 21832 | 18908 | 16547 | 14621 | 13035 | 49717 | 10612 | 0.6765 | 8.8786 | B.1924 | 7.5079 | 7.0798 | 6.6231 | 62201 | 49920 41649 | 30087 | 3330
40 32835 | 27355 | 23115 | 19793 | 47450 | 15046 | 13332 | 19025 | 10757 | 87791 | 89511 | 82438 | 7.6344 | 71050 | 66418 | 62335 | 49048 44650 | 39995 | 33332
50 30.196 | 31494 | 35730 21.452 | 18256 | 15762 | 13.801 _122‘3'3 10062 | 9.0148 | 9.0417 | 83045 | 7.6752 71327 | 6.6605 | 6.2453 40005 | 41666 | 3.9999 33335
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CIFA PART I SECTION §

ALTERNATIVE INVESTMENTS ANALYSIS

WEDNESDAY: 27 November 2019. Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE

(2)

(b)
(c)

Examine four forms of reguiations imposed by the market regulator in your country to ensure that systematic risks
asscciated with alternative investments are minimised. (4 marks)

Highlight four objectives of including real estate to an investment portfolio as an alternative asset class. {4 marks)

Utopia Investment Bank recently hired you to be its portfolic assistant manager. One of your key client whose account
you are managing has shown interest in diversifying his portfolio through investment in a commercial building real
estate investment trust (CREIT). The following information- regarding the CREIT you have recommended is as
follows:

Sh..000”
Estimated 12 months net operating income (NOI) 76,000
Funds from operation for the year ended 31 December 2018 66,500
Cash and cash equivalents 61,750
Accounts receivable 33,250
Non-cash rents 4,750
Debt and other liabilities 180,000
Recurring maintenance costs 14,250
Expected annual dividend to be paid in the year 2019 4,750

.

Additional information i
1. The number of outstanding ordinary shares amounted to 9.5 miilion.

2. The dividend growth rate in the year 2020 and 2021 is expected to be 2% per annum and thereafter grow at
1% per annum from 2022 into perpetuity,

3 The assumed capitalisation rate is 7.5%,

4. The commercial building subsector average price-to-funds from operation (P/FFQ) is 10 times while that of

price-to-average funds from operation (P/AFFO) is 14 times,

Assume your cost of equity is 9% while the risk-free rate is 2%,

Required:
The value of CREIT using the following approaches:
(i) The net asset value (NAV). {3 marks)
(ii} The price-te-funds from operation (P/FFQ), (3 marks)
(iii) The price-to-average funds from operation (P/AFFO). (3 marks)
(iv) Through discounted cash flow (DCF) method. {3 maTks)
(Total: 20 marks)
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QUESTION TWO

(a) (i) Propose two distribution waterfall methods that could be applied to facilitate the flow of accruedCititerest
from a general partner to a limited partner in relation to private equity. & marks)
(ii) Zimera Fund is a private equity firm with interests in agricultural and building constructions. The firm has
recently raised Sh.100 million capital with carried interest rate of 20%. Out of this fund, ahinvestment to the
tune of Sh.40 million is made and later in the year the firm will exit the investment and earn a profit of Sh.22
million.
Required:
Determine whether the general partner receives any carried interest under the waterfall distribution method.
(4 marks)
(b) Describe four factors that could have contributed to the growth of the global disttessed debt market in the recent past.
' (4 marks)
(c) Two financial analysts were tasked to analyse a potential investment in a leveraged buyout (LBO) of Rich Capital
Limited. They seek to assess the expected gain if they elect to purchase all the preference shares and 90% of the
ordinary shares in the LBO. =
Details of the LBO include the following:
®  The buyout requires an initial investment of Sh.10 million.
* Financing of the deal 'includes Sh.6 million in debt, Sh.3.6 million in preference shares that promises a 15%
- annual return paid at exit and Sh.0.4 million in ordinary shares. The expected exit value in six years is Sh.15
million with an estimated reduction in debt of Sh.2.8 million over the six years prior to exit.
~ Required: _
" The multiple of expected proceeds at exit to invested funds for the LBO investment. (5 marks)
(d) The coupon curve of prices for passthrough security for some months is as follows:
Coupon (%) Price (Sh.)
7 94.00
8 . 97.06
9 99.50
10 102.60
11 105.25
12 106.19
Required:
The coupon curve duration for the 10% coupon passthrough. (3 marks)
. {Total; 20 marks)
QUESTION THREE
{a) Evaluate three forms of internal credit enhancement as used in asset backed securities (ABS). (6 marks)
(b) ‘Suggest two reasons why financial institutions originate éynthetic balance sheet collateralised debt obligations
{CDOs). {4 marks)
(c) The following information relates to property B which is eventually sold in year 10:
Sh.
Purchase price 4,570,000
Expected net selling price 7,760,500
Expected gain on sale 4,710,500
Accumulated depreciation 1,520,000
Mortgage balance outstanding 1,140,000
Tax on depreciation recapture 30%
Tax on capital gains 5%
.Required: :
~ The after-tax equity reversion of property B. (4 marks)
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(d)

As a pension manager with Faraja Endowment Fund, you have made an investment in a venture capital fund kriwn as
“Hekima Fund” for 3 years commencing 2016. You have committed a capital of Sh.876 million and the performance
of Hekima Fund is as shown below:

Year Called down Management fee Operating results
' Sh.“million®  Sh.“miHion” Sh.“million”

2016 135 0.55 —95

2017 112 0.87 135

2018 337 1.39 455

You are also informed that the distribution waterfall calls for a 20% carried interest when the Net Asset Value (NAV)
before distribution exceeds the committed capital.

Required:
(i) Calculate the year 2018 percentage management fee of the Hekima Fund, (3 marks)
(it} Determine the net asset value (NAV) of the fund for the year 2018. (3 marks)

(Total: 20 marks)

QUESTION FOUR

(a)

(b)

(c)

(d}

Explain three classes of protective covenants provided in a venture capital arrangement aimed at safeguarding the

investors’ interests, _ (3 marks)
(i) Describe three types of participants in the commaodities market. (3 marks)
(ii} A pension fund seeks to gain long exposure to commodities using the swap market. They analyse the

performance of a long position in a commedity index total return swap having maonthly resets and a notional
amount of Sh.25 million. Selected data on the commodity index for the year 2019 is as presented below;

Reference date Index level
April (swap initiation) 3042.35
May 3282.23
June 3225.21

The settlement date was June 2019.

Required:
The amount to be received or paid by the party that is long in the commodity index tota return swap.
(3 marks)

A pool of mortgage pass-through securities is used as a collateral for collateralised mortgage obligation (CMO) selling
at a premium, One tranche in the deal, Tranche X is selling at a discount and another tranche Y is selling at a
premium,

Required: )
() Explain why a slowdown in prepayments will tend to increase the value of the collateral. (2 marks)
(i) Compare and contrast the effect of a slowdown in prepayments on the value of tranche X and Y respectively.

(2 marks)

As a financial analyst for Liz Fund Managers, you have gathered the following data on a collateralised mortgage
obligation (CMO) structure using Monte Carlo Simulation Model based on 12% volatility:

Option adjusted Z-spread Effective

spread (OAS) Basis poinis duration

Basis points (BPS) (BPS)
Coltateral tranche 90 130 8.0
PACIL A 60 70 2.0
PACIB 80 90 4.0
PACIC 40 130 6.0
PACID 40 160 10.0
PACIL A 90 180 5.0
PACIH B 30 300 7.0
Support A S1 40 190 12,0
Support A S2 60 210 15.0

Where: PAC — Planned Ameortisation Class
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Required:

(i) Calculate the option cost for PAC I D, PAC I1 B and Support A 82.

(ii) Identify the PAC tranches that appear expensive in the above deal on a relative value basis.

(3 marks)

{2 marks)

(iii) Despite PAC 11 B low OAS of 30 basis points, explain why a yte[d buyer may be persuaded to purchase the

PACI B,

QUESTION FIVE

(a)

(b

(c)

In relation to hedge funds:

(2 marks}

(Total: 20 marks)

(0 Assess three difficulties which could be experienced in applymg traditional portfollo analysis to value hedge

funds. {6 marks)
{ii) Argue three cases in favour of hedge fund replication strategy to manage hedge funds. (6 marks)

The current cash price of one barrel of Brent Crude Oil is Sh.10,000 while the three month future price is $h.9,800 per
barrel. The annual cost of funding is 4% and the annual storage cost is 5%.

Reguired:
The convenience yield.

(2 marks)

An analysts observes the following futures prices for an agricultural commodity trading on a global futures market:

Commodity January 2020
30 December 2019 57.98

31 Janvary 2020 :

28 February 2020

31 March 2020

Required:
Calculate the following:

(i) Futures return for January 2020.

(ii) Spot return for February 2020.

(iii) The roll return for March 2020,

------------------

February 2020 March 2026 = April- 2020
61.04 62.09 62.35
68.35 67.92 68.74

61.10 61.41
' 60.57

ooooooooooooooooooooooooooooooooooooooooooooo

{2 marks)
(2 marks)

(2 marks)
(Total: 20 _marks)
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Present Value of 1 Received at the End of 1 Periods:
PVIF = 1/(1+r) = (1+0)"
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CIFA PART I SECTION 5

ALTERNATIVE INVESTMENTS ANALYSIS

THURSDAY: 23 May 2019, ) Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE

{a} Explain four buy side participants in the alternative investments environment. {4 marks)
(b) Examine four characteristics of mezzanine debt. {4 marks)
(c) The following financial data was extracted from the books of Umoja Shopping Mall for the year ended

(d)

31 December 2018:

-Sh,»000”
Net Operating Income {NOI) . 80,000
Cash and cash equivatents 20,000
Accounts receivable 15,000
Total debt 250,000
Sundry creditors 50,000
Non-cash rent ' 2,000
Full-year acquisition adjustments 1,000
Land held for future development 10,000
Prepayments 5,000

Additional infermation:

1. Growth of NO! for the year 2019 is projected to be 1.25%,

2. Capitalisation rate based on recent comparable transaction is 8.0%.
3. Number of ordinary shares outstanding is 15,000,000.

Required:
The net asset value per share (NAVPS) for the Umoja Shopping Mall. {7 marks)

Valley Ltd. is an agri-business company. The founders believe they can sell the company for Sh.40 million in
5 years time. The founders require Sh.5 million in capital now and they currently hold | million ordinary shares.
The venture capital decides that given the high risk of this company, the discount rate of 40% is appropriate.

Required:

(i) The pre-money valuation for the venture capital. (1 mark)
(ii} The post-money valuation for the venture capital. (1 mark)
{iii} The ownership fraction. {1 mark)
(iv) The price per share using the net present value (NPV) method with a single financing round. (2 marks)

(Total: 20 marks)

QUESTION TWO

{(a)
(b)

Highlight three benefits of farmland as an alternative asset. {3 marks)

Assume a piece of farmland costs Sh.[10,000 per acre and an investor purchases 10 acres of the land. The
investor finances 75% through bank loan and puts 25% equity in the deal. The interest rate for the loan is 3%,

Additional information:
I The investor leases the farm to a local farmer for Sh.12.000 per acre per year earning a return of
Sh.120,000 per annum.
2 Property taxes amount to Sh.30,000 per annum.
3 Insurance amounts to Sh.10,000 per year.
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(c)

(d)

Required:
(i) Return on equity (ROE) on the farmland. {3 marks}

(i) Operating return on asset (ROA) on the farmland. {3 marks)
A property was let for a five year term, three years ago at $h.400,000 per year. Rent review occurs every five
years. The estimated rental value in the current market is Sh.450,000 and the risks yield on comparable fully let

properties is 5%. The incremental rent is to be discounted at a rate of 6%.

Required:
Estimate the value of the property using the layer method. - (4 marks)

The following information relates to a Leveraged Buyout (LBO) transaction valued at Sh.800 million:

Additional information:
L Exit occurs in seven years at a projected multiple of 1.8 of the company’s original cost.

2. The LBO is financed through a debt to equity ratio of 65% and 35% respectively.

3 The $h.280 million equity is composed of:
- Sh.200 million in preference shares held by the private equity firm.
- $h.75 million in equity held by the private equity firm.
- Sh.5 million in equity held by management equity participation.

4, Preference shares are guaranteed at 14% compound annual return payable at exit.

5. The equity of the private equity (P/E) firm is promised 90% of the firm’s residual value at exit after the
creditor’s and preference shares are paid.

6. Management equity participation receives 10% balance.

7. By exit, the company will have paid Sh.300 million of the initial Sh.520 million in debt using operating
cash flows.

Required:

The payoff multiple for the equity claimants (private equity). (7 marks)

(Total: 20 marks)

QUESTION THREE

(a)
(b)

(c)

Discuss two exit strategies available for private equity investors. (4 marks)
(i) Describe three types of risks that could be faced by hedge fund managers. {3 marks)
(i) Tom Ltd., a fund of hedge funds, has the following fee structure:

) 2/20 underlying fund fees with incentive fees catculated independently.

. Tom Ltd. fees are calculated net of all underlying fund fees.

. 1% management fee (based on year end market value).

. 10% incentive fee calculated net of management fee.

. The fund and all underlying funds have no hurdle rate or high-water mark (HWM) fee conditions.

In the latest year, Tom Ltd.’s funds value increased from Sh.100 million to Sh.133 million before
deduction of management and incentive fees of the fund or underlying funds.

Required:
The total fee earned by all the funds in the aggregate. (7 marks)

Rachel Wamae owns a newly issued government agency fixed rate pass through morigage backed security (MBS}
and wants to evaluate the sensitivity of its principal cash flow to the following interest rate scenario:

Interest rates instantaneously decline by 250 basis points for all maturities, remain there for one year, and then,
Interest rates instantaneously increase 350 basis points for all maturities and remain there for the next year.

Currently, the MBS is priced close to par and the yield curve is flat. Rachel does not expect the shape of the yield
curve to change during the interest rate scenario.

Rachel also wants to evaluate the price sensitivity of her MBS to changes in interest rates. She knows that
modified duration and effective duration are two possible measures she could use 1o evaluate price sensitivity.
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Rachel also owns a newly issued government agency collateralised mortgage obligation interest only (1O)
security.,

Required:

(i) Discuss the reasens why the MBS principal cash flows change. (2 marks)

(i) Justify with reasons the duration measure that Rachel Wamae should use to evaluate the price sensitivity
of her MBS. {2 marks}

(iii) Explain whether the interest only, 10, security price increases or decreases in the first vear of the interest
rate scenario described above. (2 marks)

{Total: 20 marks)

QUESTION FOUR

(a)

(b)

(c)

Summarise four characteristics that differentiate lhe commodity indices from other alternative investment indices.
(4 marks)

A fund manager takes a fully collateralised long futures position in nearby coffee futures contract at the quoted
futures price of Sh.865.0. Three months later, the entire futures position is rolled when the near term futures price
is Sh.877.0 and the further term futures price is $h.883.0. Puring the three month period between the time that
the initial long position was taken and the rolling of the contact, the collateral earned an annualised rate of 0.60%.

-Requ ired:

The three month’s total return on the coffee futures trade. (5 marks)
Bomboo Lid. is an all-equity financed firm. After a recent re-organisation, the company is considering issuing a
debt in form of a collateralised mortgage obligation {CMO). The issuer s considering the two CMO structures as

highlighted betow:

Structure |

Tranche Par amount Coupon rate

Sh. “millien” (%)
A 150 6.50
B 100 6.75
C 200 7.25
D 150 1.75
E 100 8.00
F 500 8.50

Structure 2

Tranche Par amount Coupon rate

Sh. “million™ (%)

A 150 6.50

B 100 6.75

C 200 7.25

D (50 175

E 100 8.00

F 200 8.25

G 300 ?

Tranches A 10 E are a sequence of planned amortisation class (PAC) tranche F is a PAC 2 and tranche E is a
support tranche without a schedule.

In Structure 2, tranche G is created from tranche F in Structure 1.

Required:
(i) Determine the coupon rate for tranche G assuming that the combined coupon rate for tranches F and G in
Structure 2, is 8.5%. (4 marks}
(i) Explain the effect on the value and average life of tranches A-E including the PAC 2 in Structure 2.
{2 marks)
(iii) Explain whether there is any difference in the average life variability of tranche G in Structure 2 and
tranche F in structure |, (2 marks}
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(d)

An investments analyst is considering the following asset backed sécurity (ABS) structure;

Tranche Amount
Sh.*million™
Senior tranche 170
Subordinate tranche A 50
Subordinate tranche B _20
240

The amount in the pool are worth Sh.280 million.

Required:
(i) Amount of overcollateralisation. . {1 mark)
{ii) Amount of losses that the senior tranche investors begin to lose money. _ (2 marks)

{Total: 20 marks)

QUESTION FIVE

(a)
(b)

(c)

(d)

Discuss four types of mortgage designs in the context of mortgage backed securities (MBS). (4 marks)

A tranche of a mortgage backed security (MBS) has been split to create a floater with a principal of Sh.64,583,333
and an inverse floater of Sh.12,916.667.

The tranche has a coupon rate of 8.5%

Required:

(i) The capitalisation rate for the inverse floater when the coupon rate for the floater is 9 [-day weasury bill
plus 1%. {4 marks)

(ii) The capitalisation rate for the floater when the coupon rate is 91-day treasury bill plus 1% and a floor is
imposed on the inverse floater of zero. {2 marks)

Describe four loan level calt protection mechanism that cushions an investor of a commercial mortgage backed
security {CMBS) from exposure to loan prepayment risks. (4 marks)

Fredrick Onyango owns a mortgage pass through in which the remaining mortgage balance at the beginning of the
month is $h.290 million and the Conditionat Prepayment Rate (CPR) is 6%. The scheduled principal payment is
Sh.3 million.

Required:

(i) The single-monthly mortality rate (SMM). {2 marks)
(i1} The estimated prepayments. (2 marks)
(i) The SMM for menth § assuming a benchmark of 100. {2 marks)

(Total: 20 marks)
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Present Value of 1 Received at the End of i Periods:

PVIF = V(l+ey=(1+1)"
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a 5735 4535 7AS4  TMI7  ATGE  E2T4 5620 5403 5019 4465 4033 3506 A2e9 3050 2660 3326 1789 1363 1085 0854
9 8143 BIEE 7684 TOZE .E446 5919 5439 5007 4604 4241 3606 DGTI  2B43 2630 2255 1338 A4 L1084 0822 0529
10 Q053 8203 7441 6736 6138 5564 50493 46327 4224 3855 3220 26T 477 2267 4991 IS 1164 0B4T 0623 D462
.1 ase3  BO43 724 8496 SB4T 5268 4751 4283 3875 3505 2075 2366 2149 1954 _fE1% 1346 0933 0662 0472 0M0
12 8974 7985 7014 6246 5568 4970 4440 3ST1 3555 MBE (26T 2076 1869 1695 1372 122 0757 0517 0357 0250
13 A7AT  7TAD  GBI0  BODE 5303 4688 4150 3677 A262 2657 2297 61 4625 1432 1163 0925 0640 404 02T 03
14 a70n 75T S6L1 5TTS  .5051 4423 JATE 3405 2992 2633 X046 39T 143 1252 0563 0779 0492 036 0205 0135
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17 B444 7142 BOS0 5134 4383 3M4 MEE 2T0d .23 ABTE 1456 078 0929 0802 0600  MS1 0259 0130 DOBS 0034
18 8360 YOO .LG7T4 4936 4155 3503 2959 2502 2120 4799 1300 0946 0808 .069% 0508 0376 0208 0118 0068 D33
19 B2TT  £864  5T0)  AT4E 3957 3305 2765 2T 1945 4635 1161 OBZ9 0703 0538 .04M 0313 04168 0032 0051 0029
20 Bi95 G0 5537 L4564 3TET 3119 2584 2145 1784 1486 1037 0V20 0611 0554 0IES 0261 0133 0¥ 0033 00N
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* The factor is zero to fous decimal places
Present Value of an Annuity of | Per Period for n Periods:
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CIFA PART II1 SECTION §

ALTERNATIVE INVESTMENTS ANALYSIS

THURSDAY: 29 November 20118. ) Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE
(a) Explain five characteristics of real estate as an alternative investment class. (5 marks)
(b) The following information relates to a certain office building in Naro town and which Kangaro Financial Services

(KFS}) is considering for valuation:

Sh.<000”
Gross potential rental income 700,000
Insurance and taxes 52,000
Utilities 36,000
Repairs and maintenance 46,000
Depreciation 80,000
Interest on proposed financing 36,000

Additional information:

1. Vacancy and collection losses is estimated at 4%.

2. Recently, there have been two office buildings sold in the same area:
*  The first building had a net operating income of Sh.1,000,000 and was sold for Sh.$,000,000.
*  The second building had a net operating income of Sh.450,000 and was scld for $h.3,200,000,

Required:

(i) The net operating income (NOI) for the office building. (5 marks)

(i) The appraised price of the office building using the income approach. (5 marks)
{c) An asset management firm is reviewing the following mortgage pool:

Loan Outstanding Mortgage rate Meonths remaining

Mortgage balance
Sh. 000" (%)

] 215,000 6.75 200

2 185,000 7.75 185

3 125,000 7.25 192

4 100,000 7.00 210

5 200,000 6.50 180

Required:

(i) The weighted average coupon (WAC) rate for the mortgage pool, (3 marks)

(iiy The weighted average maturity (WAM) for the morigage pool. (2 marks)

(Total: 20 marks)

QUESTION TWO
(a) Explain the term “J-curve effect” as used in private equity valuation. {2 marks)
(b) Highlight three differences between a “buyout investment™ and a “venture capital investment”, (3 marks)
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(c)

Examine lour roles of third market and fourth market in alternative investments. (4 marke}

{d) A private equity Tund has the following information about the yearly capital calls, operating results and distributicns;
‘Amount (Sh."million™)
Year 2012 2013 2014 2015 2016 2017
Capital called down 50 15 10 25 10 5
Realised results 0 0 10 35 40 80
Unrealised results -5 -15 15 10 15 25
Distributions - - - 25 45 75
Additional information:
1. The management fee is set at 2%.
2 ‘The carried interest is 20%.
3. The tund’s committed capital is Sh.125 miflion.
Required:
The fund’s net internal rate of return (IRR). (8 marks)
(e) The following information relate to a venture capital deal.
Terminal value (at time of exit) §h.5,000,000
Time to exit event 4 years
Amount of investment Sh.1.000,000
Discount rate used by investors 25%
Number of existing shares owned by the entrepreneurs 200,000
Required:
The price per share of the venture capital deal, (3 marks)
{(Total: 20 marks)
QUESTION THREE
(a) Distinguish between “contango” and “backwardation” in relation to commodities. (2 marks)
(b) An asset is priced at $h.5,000. The risk-free rate is 9%. Futures contract on the asset expires in 45 days.
Assume a 365-day year.
Required:
(i) The futures price assuming that the undertying asset has no storage cost, cash flow or convenience yield. (2 marks)
(ii) The futures price assuming that the future value of storage cost on the underlying asset at expiration is
Sh.500. {2 marks)
(iii) The futures price assuming that the future value of positive cash flows on the underlying asset is Sh.150,
(2 marks)
(c) An index provider has created a new investable index that tracks the hedge fund indusiry. Any fund that follows a
long/short strategy can enter the index. The index provider places new constituents in the index at the end of each
year and incorporates the new fund’s track record in the database.
In relation to the above statement, evaluate three biases inherent in the hedge fund databases that might distort the
historical performance of the index. {6 marks)
() Cool Breeze Capital (CBC) is considering a leveraged buyout (LBO) of Optimax Capital which has been experiencing

poor operating results over the last few years. The revenue and earnings before interest tax depreciation and
amortisation (EBITDA) for Optimax Capital have been declining rapidly but CBC believe it has found a new
management team that will stabilise Optimax Capital.

Optimax Capital currently has EBITDA of Sh.250 million and CBC believes that the new management team could
keep EBITDA constant for the next five years,
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CBC has obtained debt financing of Sh.750 million at an interest rate of 10% and Optimax Capital expects working
capital to be a source of funds at a cost of Sh.6 million per year. It also requires capital expenditure of Sh.35 millicn
per year. The corporation tax rate is 30%.

CBC plans to sell Optimax Capital after five years at an enterprise value to EBITDA multiple of 6.0x.

Additional information:

L. Assume that excess cash is not used to repay debt and instead accumulates on the balance sheet.

2. There are no transaction fees, zero minimum cash required and the property, plant and equipment on the
balance sheet remain constant for the next five years.

Required:
The purchase price required for CBC to obtain a 3.0x multiple of invested capital (MOIC). (6 marks)
(Total: 20 marks)

QUESTION FOUR

(a)

{b)

(<)

{d)

Onesmus Nyandiko is the manager of a portfolio containing mortgage pass-through securities. He is reviewing output
of his firm’s analytical system for several pass-through securities that are in the portfolio. Below is a portion of the
report for three pass-through securities:

Price based on an assumed interest rate volatility of:

Pass-through (%) 1t 13 15 16

Security 1 100 98 95 93

Security 2 92 90 88 87

Security 3 102 104 106 107

Required:

Comment on whether there is an error in the analytical system. (3 marks)
Describe two ways in which a credit default swap could be setiled. {4 marks)

Explain the following tranches of a collateralised mortgage obligation (CMO):

(i} Sequential pay tranche. {1 mark}
(i) The accrual tranche. . (1 mark}
(iii)  The planned amortisation class (PAC) tranche. (1 mark)
(iv) The support tranche. {1 mark)

A collateralised debt obligation (CDO) has a Sh.100 million structure. The collateral consists entirely of bonds with
10 years remaining until maturity and a coupon rate which is equal to the 10 vears ireasury rate ptus 300 basis poini.
The senior tranche represent Sh.65 million and carries a floating coupon rate equal to London Interbank Offered Rate
(LIBOR) plus 60 basis point, There is Sh.7 million mezzanine tranche and has a fixed coupon equal to the treasury
rate at origination plus 100 basis point. The manager of the trust has entered into an interest rate swap under which
the trust will pay an annual fixed rate equal to the treasury rate plus 80 basis points and receive LIBOR. The notional
amount for this swap is Sh.65 million. '

The 10 year treasury rate is 6% at the time of origination.
Required:

Determine the return of the equity tranche that is created. (9 marks)
(Total: 20 marks)

QUESTION FIVE

(a)

(b)

Discuss four common features of alternative investments. (4 marks)

Describe two categories of infrastructure investments as a form of alternative investments. (2 marks)
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(©)

(d)

(e)

Explain the following terms in the context of private equity:

(i) Equity dry powder. (1 mark)
(ii} Mezzanine debt. 1 mark)
(iii) Distribution waterfall. (1 mark)

Faida Hedge Fund has Sh.100 million assets under management {AUM) at the stant of year 1. The Fund grows to
$h.120 million at the end of year 1. At the end of vear 2, the value of the fund had declined to Sh.90 million.
However, the value of the fund increased to Sh.140 million at the end of year 3.

The fund charges a management fee of 2% based on AUM and a 20% incentive fee with a high-watermark (HWM)
provision for incentive fees.

Required:
Return te investors at the end of each year. (6 marks}

A government sponsored mortgage backed security (MBS) is a 9% passthrough security issued on 1 March 2017 with
a remaining term of 359 months. The | June 2018 and | July 2018 pool factors are 0.85150625 and 0.84732282
respectively,

Required:
The prepayment speed for the month of June 2018 using Public Securities Association (PSA). {5 marks}
(Total: 20 marks)

.................................................................................
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CIFA PART Il SECTION 5

ALTERNATIVE INVESTMENTS ANALYSIS

THURSDAY: 24 May 2018, ST L. Time Allewed: 3 hours.

Answer ALL: questions, Marks allocated to each question are shown at the end of the question. Show: ALL your werkings.

QUESTION ONE ¢ :
{a) Summarise three reasons why many private equity sponsors tend to favour mezzanine financing over htgh-ywld fonding.
. {3 marks)
(b} Eliud Mulee inherited an apartment building. He initially intended to keep the building, but his_laj\#}}ér_ éuggcst_ed-that he
should consider selling the building and buy some undeveloped land at the outskirts of the city, The. owner of the land
had planned to build a shopping mall but now he is being forced to sell the land at a price below its appraised value.
Mulee’s lawyer made the following comments: : o C
1. The high occupancy rate of your apartment building exceeds the occupancy rate ofcomparable-localaparlmcnt
buildings. As a result, the -apartments will not have much potential for price appreciation. .. .
2 Although the investment in the undeveloped land will not provide immediate cash flow, its Ion,g—lerm potemlal
for price appreciation is significant because one can develop a shopping mall on'the land. :
Required: | v _
Critique each of the above statements. A ~ .. (4 marks)
(<) An alternative investment analyst gathers the following values for distributions, contributions and. net asset. value (NAV)
for a Ugandan private equity fund named Fox Fund 1 that belongs to the vintage year 2011:
Year 2011 2012 2013 2014 2015 2006 2007
Fox Fund 1 (Sh."million™) -200 -800 200 -2,000 = -600 2,000 3 500
Positive numbers correspond to the years in which investors received net distributions while the negative numbers
correspond to years in which investors made net contributions. The figure for-2017 corresponds to the. net asset, value at
the end of that year.
Required:
Compute the foliowing for the fund
(i) Interim internal rate of return, - e (3'marks)
(i) The total value to paid-in ratio. : - (2 marks)
(i) The distribution to paid-in ratio. - | - T (@ marks)
{iv) The residual value to paid-in ratio. S _(_2._ marks)
@ Samue! Mwangi has invested in several real estate holdings in a country with a caiﬁital géin;:: fax rate of 30%. One of

these holdings is land with a current market value of Sh.15 million. He intends to utilise its value to generate liquidity.

- Samuel is considering monetising his property ¢ither through mortgage f inancing or sale and lease back.

The property has a cost basis for tax purposes equal to 15% of its current market value, He can achieve a loan-to-value
. ratio of 75% through a mortgage financing at an interest rate of 8%. Lease payments and mortgage financing are both -
- deductible for tax purposes. He wants to determine how much liquidity each method will generate upon closing..

Required: R :
Calculate the initial net proceeds if Samuel opls to use:
(i) Mortgage financing method. - L . (2 marks)
(i) Sale and lease back method. . (2 marks)
- (To(al ‘20 marks)
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QUESTION TWO

In the context of participants in the alternative investments market evaluate four advantages of separately managed

(a}
accounts {SMAs) refative to mutual funds. o L (4 marks)
(b) Explain three factors that could affect prepayments in a mort.g'ag.e.pass-through security. (3 macts)
<) In relation to asset backed securities (ABS), differentiate between “prepayment tranching” and “credit tranching”.
(2 marks)
{d) An alternative investment firm is considering equity investments in real estate. The two options under consideration are
as illustrated below: _
Option 1; Investment in a public real estate investment trust (REIT).
Option 2: Equity investment in a public real estate operating company (REOC)
Option 1; REIT _
Recent net operating income (NOI) Sh.140 million
Non-cash rents Sh.5 million
Full year adjustment for acquisition Sh.5 miilion
Other assets Sh.50 million
Total liabilities $h.300 million
Current market price per share Sh.125
Shares outstanding [5 million
Going in capitalisation rate 7.0%
Net operating income growth rate 2.5%
Option 2: REOC
Expected Adjusted Funds From Operations {AITO) in year 8 5h.13.5 million
Holding period 7 years
Present value of all dividends for 7 years 5h.39.7 million
Shares outstanding 1.0 million
Capitalisation rate 7.0%
Growth rate from year 8 2.50%
Additional information:
1. The REOC terminal value at the end of seven years is to be based on a price-to-AFFO mult:p]c of [2 times,
2. The real estate market expectations are that morigage rates are likely to remain low for at least seven more
years and the economy is expected to enjoy above average growth rate. :
Required:
i Using the net asset value approach, determine whether the REIT identified in Option [ is fairly priced.
(3 marks)
(if) Using the discounted cash flow approach, calculate the estimated value per share of Option 2. (3 marks)
{iii) Provide one reason why Option 2 would be preferred over Option 1. (1 mark)
(e) An asset management firm is reviewing various mortgage backed securities (MBS) and is interested in calculating the
single monthly moriality (SMM) rates. The firm is using the Public Sccuritics Association (PSA) standard prepayment
benchmark.
Required:
5] The SMM for month 22 assuming a [40PSA. (2 marks)
(it) The SMM for month 200 assuming a 90 PSA, : {2 marks)
(Total: 20 marks)
QUESTION THREE
(a) Discuss four factors that have contributed to the convergence ofprwale equity and hedge fund strategies in the global
markets. (4 marks)
(b) Cetric Mayfair hedge fund employs the following three hedge fund strategies:

1. Quantitative long/short find.
2. Arbitrage/relative value fund,
3. Fund of funds

Required:

For each of the above hedge fund strategies, propose:
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(i) The underlying assumptions. (3 marks)

(ii) The investment strategies. (3 marks)
{iii) The potential downside exposures. {3 marks)
{c) A portfolio consists of 100 credits, cach having a notional value of Sh.10 million. An investor is interested in a {ranche

having the notional value of Sh.50 million with an atachment of 5% and a width of 2%, The spread is 150 hasis points.
The recovery rate is 40%, The tranche will not expericnce any loss until there are nine defaults.

Required:

(i) Calculate the amount paid by the protection seller to the protection buyer. (3 marks)

(ii) Calculate the amount paid by the protection buyer to the protection seller, (1 mark)
(d) A fund has invested in a two commodity portfolio, A and B, with a beginning value of Sh.100 million. Over the

upcoming two periods, the return on commodity A will be 100% in period | and — 50% in period 2. The rate of return on
commodity B will be 0% in period 1 and 0% in petiod 2.

The allocation 10 each commodity is 50%. The portfolio is rebalanced after each period.

Required:

Calculate the geometric return of the pertfolio. (3 marks)
(Total: 20 marks)

QUESTION FOUR

(a) Explain the following terms as used in private equity investment:
(i) Carried interest. {1 mark)
(i} Clawback clause, {1 mark)
{b) Discuss two uses of credit derivatives. {2 marks)
{c) The asset backed securities (ABS) market has grown in the past few years partty as a result of credit enhancements 10
ABS. )
Required:
{i) In relation to the above statement, differentiate between a “letter of credit” and “early amortisation™ (2 marks}
(i) Explain to the investor the risk associated with relying exclusively on letter of credit and carly amottisation.
{2 marks)
(d) SCM Capital is a hedge fund with an initiator investment capital of Sh.100 million. The hedge fund charges a 2%

management fec based on assets under management at year end and a 20% incentive fee. In its first year, SCM Capital
has a 30% return. The fee structure specifics a hurdle rate of 5% and the incentive fee is based on returns in excess of the
hurdle rate. The performance fee is calculated net of the management fec.

In the second year, the fund value declines to Sh.110 million. The fee structure in the second year includes the use of a
high water mark (HWM). In the third year, the fund value increases to Sh.128 million. The fee structure in the third year
includes the use of a HWM. )

Required:
(i) Calculate the arithmetic mean annual return over the three-year period based on the fee structure specified
above. (5 marks)

(ii) Calculate the total fee paid to SCM Capital over the threc-year period. (1 mark)

(e} Simon Meso decided to sell one of his income producing propertics in January 2018. He decided to use a direct
capitalisation approach and a discounted cash flow approach 1o set the asking price for the property. The property
information is provided below:

Property information

Capitalisation rate 13%
Mortgage: none
Commissions none
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Year Net Operating Income (Sh.“000™)

2018 43,300

2019 45,725

2020 S 43271

2021 50,945

Required: _ .

(i) Estimate the properly s current value using the direct capitalisation method. o {1 mark}

(i) Discuss two shortcommgs of the underlymg assumpnons and methodology of the dlrecl capnal. ation approach
to valuation. . ) o S - {2 marks)

(iii)  Calculate a discounted cash flow valuatlon of the properry gwen that the propeny is sold at the end of year

QUESTION FIVE

(a)
®)
()

(@

(e)

(.

12021 _ _ -« {3 marks)

' ’ : ' o {Totak:-20'marks)

Outline one limitation of cash flow duration in the mortgage backed securities market (MBS) o, (1 mark)

- Inrelation to commodmes discuss three mlsmterpretanons of the roll return. ':‘ Sy ..o {3 marks)

An .investor of assets backed securities (ABS) and mortgage backed securmes (MBS) is concemed that there is a
possibility of interesk rates declining in the near f‘uture B

Required

Explam the effect of the follow;ng assummg interest rates decline as. expecled

(0 The cash flows of home-equity ABS. ' : S ‘ ‘(2 marks)
iy ~ The cash flows of the autdmobile receivable ABS. I .. o {2 marks) .

An analyst gathers the following information for collateralised mortgage obligation (CMO) tranches: -

Option Adjusted Z-Spread Effective
Tranche Spread (basis pomts) (basis points)  duration
1 68 85 2,60
2 T 91 290
3 73 136 8.25
Required: : _ :
Determine the most expensive tranche, . _ - (4 marks)

James Ochieng is conmdermg investing in two bonds, A and B. Bond A has a duration of 5 6 years and a convexity of
38.2. Bond B has a durauon of 7.3 years and a convexity of 38.2.

Required:

Determine the bond that is more exposed to interest rate rlsk ' - o @ marks)

A collateralised mortgage obligation (CMO) securlty has a floating rate tranche C. Tranche C has been split to create a
floater w|th a pnnmpal of 8h.80,416,667 and an inverse floater with a principal of Sh.16,083,333 as shown below

Tranche o Par Amount (Sh } Coupon (%)
A _ 194,500,000 7.50
B .. 36,000,000 - . 7.50
" C " Floater " 80,416,667 ' '
Inverse floater 16,083,333 o
D - ) © 73,000,000 7.50
Required
(i) Determine the capltallsatlon rate for the inverse {loater if the coupon rale for the ﬂoaler is ! monlh LIBOR plus
]‘Vo .
3 marks)
(i) .Determine the capitalisation rate on the floater assuming that the coupoh formula for the ﬂooter is 1 month
LIBOR plus 1%, and a floor of zero is imposed on the inverse floater. (3 marks)

{Total: 20 marks)
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Present Value of | Received at the End of » Periods:
PVIF, = V(1+r) = (i) | | &

Period 1% 2% % A% 5% &% % 8% 9% 10% 12% 14d% 1% 16% 16% 20% 24% W% I Io%
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3 $706 .9423 .3151 8290 BEIE B3ISE BIS3 TIM FII? TH1I TI48 STS0 65V 6407 BOBE 5787 - 3243 ATER 4348 970
4 9é40 92738 .BE3a5 0548 B227 7921 . FE29 750 TOA4 6830 6355 5921 3B 5523 5158 4823 4230 3727 .23 250
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6 9420 8880 8375 7903 7462 7050 6661 6202 5363 5645 5066 4556 4323 4104 3T04 3BT 27N1 z2r4 1890 1580
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18 8360 7002 .LG74 4936 4155 3503 2959 2502 2120 1799 1300 0946 .0B08 0691 0508 0ITE L0208 ON@ 0063 0039
19 8277 6864 5703 .4T46 3957 3305 2765 .23tT 1843 1535 1161 0829 0703 0596 .043% 0213 0168 0092 0051 0029
20 §195 6TI0 L5537 4564 3769 3116 2584 2945 (784 4486 1037 0720 0811 0544 0365 0261 0135 0072 .003% .00

%5 7798 6085 ATT6 371 2953 2330 1842 1460 1§60 0923 0583 0379 0304 0245 0160 0105 0046 00211 0010 D005
a0 FA18 5521 4120 30B3 2314 4741 1394 0954 0734 0573 00M 0196 015t 0116 0070 0042 Q046 0006 0002 0001
40 ETI7 4529 J0AE (2083 1420 0972 0688 0450 0218 0221 4107 0053 0037 G026 BOM3 0007 0002 000 .
50 8080 L3715 2281 1407 .0BT? 0543 0333 0213 0134 0085 0035 0044 0009 OO0 000 Hoa

60 5504 3048 1697 0951 0535 06303 0173 0099 GOS7 0033 0011 0004 0007 0009

* The factor is Zece 10 four decimal places
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CEFA PART 11 SECTION S

ALTERNATIVE INVESTMENTS ANALYSIS

THURSDAY: 30 November 2017 Time Allewed: 3 hours.

Answer ALL questiens. Marks allocated to each question are shown at the end of the question. Show ALL vour workings.

QUESTION ONE
{a) Explain four return characteristics that distinguish altiernative imvestments from traditional invesiments. {4 marks}
(b) (i) Explain four market imperfections that could timit an investor’s ability to implement arbitrage transaction in
the commodity market. {4 marks)
(i) Discuss three theories of commedity futures retwmns. {6 marks)
(c Theresa Mwende works for a firm that deals with non-cenforming residential morigages. She has assembled Sh.80

million pool of 30 year-fixed rate morrgages with unusuatly high ioan-to-value (LTV) ranos. Theresa Mwende meets
with a potential investor who inquires about the pool created from these securities. Mwende explains to the chient that
the pool has a weighted average coupon {WAC) of 7.10% and a weighted average mawrity { WAM) of 336 months and
that under current market conditions, prepayvments are expected ar 310 PSA (Public Securifies Association Standard
Prepayment Model). Mwende also presents a table showing pooi cash flow estimates for a different prepayment
assumption. An extract of that table is given below:

Mortgage pool monthily cash flow estimates

Months from now  Mortgage payvment Outstanding balance  Net interest  Scheduled principal
24 Sh.327.321 5h.47.563.831 5h.281.419 5h.43.901

The single monthly mortality (SMM) prepaviment rate 15 assumed to be 2.1482%.,

Required:
(i) The conditional prepayment rate (CPR) for the pool. (3 marks)
(ii) The expected prepayment amount for month 24 of the pool’s life. (3 marks)

(Total: 20 marks)

QUESTION TWO

(a)

(b)

(0 Real estate has been a very large and important portion of wealth for thousands of yvears. However, there are
some aspects of real estate that could discourage its inclusien in an investment portfolio,

In relation to the above statement, discuss three potential disadvantages of investing in real estate. {6 marks) .
(ii) Highlight three advantages of real estate investment trusts {(REITs) ownership compared to direct real estate
ownership. (3 marks)

A real estate lender agreed to make a 10% interest-only {{O) loan on a property that was recently appraised at
Sh.1,200,000 as long as the debt-to-service coverage ratio (DSCR) is at least 1.5 and the loan-to-value (LTV) ratio does
not exceed §0%. The property has a net operating income of Sh.135,000.

Required:
The equitv capitalisation rate (Equity dividend rate) given that the property is purchased for the above appraised value.
(5 marks)
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(c)

Upperhill Tower is a 200,000 square foot residential apartment building located in Nairobi, Kenya. The building has an
effective age of 10 years, while its total economic life is estimated at 40 years. The building has a structural problevi that
is not feasible to repair. The building also needs a new roof at a cost of Sh.1 million. The new roof will incivase the
value of the building by Sh.[,300,000. ) :

The bedrooms in each apartment are too small, t_:hu:}'reﬁts are Sh.400.000 a year lower than the competing properties.

The negative impact on rents is estimated to be Sh.600,000 per year due to raffic congestion, power mierruption and
inadequate water supply and dumpsite being located nearby.

Due to recent construction of competing properties, vacancy rates have increased significantly resulting in an estimated
loss in value of Sh. 1,200,000,

The cost to replace Upperhill Tower 15 estimated at Sh.400 per square foot plus builder’s profit of Sh.53,0600,000. The
market value of the land is estimated ar Sh.20,000,000. The appropriate discount rate is 8%.

Required:
Estimate the value of Upperhill Tower using the cost approach. (6 marks)
(Total: 20 marks)

QUESTION THREE

(a)
(b}
()
(dy

Summarise three forms of hedge fund regulation. (3 marks)
Assess three benefits of investing in mezzanine debt. {6 marks)
In relation to leveraged buyouts (LBOs). explain the term ~cash sweep™. (1 mark)

The following information and assumptions relate to a leveraged buyout {LBO) structure:

Assumptions Year-1 to Year-5
Sales growth 5.0%
Cost of goods sold as a percentage of sales 60.0%
Selling, general and administration expenses
as a percentage of sales 15.0%
Depreciation as a percentage of sales 5.5%
Transaction fee amortisation Sh. | mitlion each vear
Tax rate 30.0%
Capital expenditure as a percentage of sales 3.5%
Increase in working capital as a percentage of
increase in sales 7.0%
Uses of funds: Sh. “million™
Purchase price 200.0
Transaction ¢osts _ 50
Total 205.0
Sources of funds:
Senior debt at 9.0% 45.0
Junior debt ai 13.0% 1000
Equity 0.0
Total 205.0

Year 0

Sh. “million™
Net sales 170.0
Cost of goods sold (102.0)
Selling, general and administration expenses (25.5)
Depreciation ' (9.4)
Operating income 331

Transaction fee amortisation -

Earnings before interest and taxes 33.1
Required:
Determine for the five years, the ending balance for the:
(i) Senior debt. (5 marks)
{ii} Junior debt. (5 marks)
(Total: 20 marks)
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QUESTION FOUR

(a)
{b)

()

Evaluate three limitations of investing in funds of hedge funds. (6 marks)

The exit value is a critical element in the return for the private equity firm and is considered carefully before the
investment is undertaken. The means and timing of the exit swongly influence the exit vaiue,

Required:
Explain three exit routes that private equity firms use. (6 marks)

Protus Murumba, a Chief Investment Officer at an endowment fund is reviewing the following investment data relating
to an investment in energy commodities:

Year GSCl total GSCI collateral  GSCI Roll GSCI Spot

annul return (%) yield (%) vield (%) annual return (%)
1 29.1 9.6 ? 6.1
2 -30.5 ? —14.2 —243

Note: GSCI is Goldman Sachs Commodity Index. a composite index of commodity sector returns which represents a
broadly diversified, unleveraged long-only position in commodity futures.

Required:

{i) The roli yield for vear 1. {2 marks)
(i) The collateral yield for year 2. (2 marks)
(iii) Murumba notes that the collateral yield is positive in both scenarios although the GSC1 tota! annual return for

vear 2 is ~30.5%. He asks for an explanation with regard to the positive yield.

Justify the positive collateral vield by discussing the concepts of margin and implied vield. (2 marks}
{iv) A consultant 1ells Murumba “commaodities ¢xhibit positive event risk™.

Justify the consultant’s statement by discussing the relationship between commodity prices and event risk.

(2 marks)
(Total: 20 marks)

QUESTION FIVE

(a)
(b)

(c)

Explain five stages of venture capilal fund development, (10 marks)

Alex Kilonzo telts Ann Kipruto that he has seen exciting data on the performance of market-neutral, convertible
arbitrage. and global macro hedge funds. Kilonzo states “The Sharpe ratios of all of these hedge fund strategies are much
higher than for traditional equities or bonds, which means they have a greater risk-return profile. We should definitely
plan a major investment in hedge funds™.

Kipruto responds “There are several reasons that the Sharpe ratio may be misleading™.

Required:

0] Advise Ann Kiprute on four situations that could cause an upward bias in the calculation of the hedge tund
Sharpe ratio. {4 marks)

(i) Cvaluate two reasons that statistically indicate that the Sharpe ratio is not the most appropriate measure of risk
for the hedge funds. (2 marks)

A hedge fund manager purchases [0 convertible bonds with a par value of Sh.1,000, a coupon of 7.5%, and a market
price of Sh.900. The conversion ratio for the bonds is 20. The hedge ratic for the bonds is 0.5. The fund manager
receives a short rebate of 4.5%. The current price of the underlying ordinary shares is Sh.45 per share. The manager pays
for the 10 bonds without using any leverage. Later, the price of the ordinary share increase to $h.47 per share, and the
price of the convertible bond increases to $h.920.

Required:
Compute the holding period return (HPR) for the convertible bond arbitrage transaction, (4 marks}
(Total: 20 marks)
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CIFA PART I SECTION S

ALTERNATIVE INVESTMENTS ANALYSIS

THURSDAY: 28 May 20017, Time Allowed: 3 hours,

Answer ALL gquestions. Marks allocated 1o each question are shown at the end of the guestion. Show ALL vour workings.

QUESTION ONE

{ad Explain how the tellowing primary structures distinguwish allernauve investments irom othey iraditional investimens:
i1 Regvulatory structure. ohomarkd
£ii Trading structure. il amark)
(i} Compensanon struciure, (1 ik
{iv) Sevurities structure, (1 mark}
{v) Institutienal structure. (1 mark)

ib) (i) Analyse two factors which could have contributed to the creation ol collateralised debt oblizations (CDO's).

{2 marks)
(i) Highlight three cconomic advantages of using a synthetic collateralised debt obligation {CHO) structure
compared 1w a cash CDO structure, £3 Mmarks)

{c? Deseribe two 1ypos of private equity teal estate investment indices. 12 maiks)

id) Hedge funds across the globe have come under increasing pressure in regard to e operations ncluding their tov
structure,

Required:
Argue three cases against hedge Tund fee structure, 3 marks)

(e} The net operating income ENOD of @ {eased property is expected te be Shol million per year over the next four years.,
At the beginning ot yvear live. the NOL is expected 1o increase 1o $Sh.i.2 million and 1o grow at a rate of 3% per snnum.
The property is sold after four years. The investors require & 13% return.,

Required:
The value of the property today. {5 marks})
{(Total: 20 marks)

QUESTION TWO

{a) Describe the rele played by cach of the following cwiside service providers in the creation and operation of atternatine
investments:

(i} Advocales. (1 mark)
(i) Hedge lund inlrastructare, (! mark)
(1i1) Consultants. (1 mark)
(iv) Fund administrators. (1 mark)
(v) Depositories and custodians. {1 mark)
(b} List three reasons that would motivate a portfolio manager 10 inchide hedge Tunds in a portlolio. {3 marks)
() Explain the elfect of decline in interest rates on each of the following types of colfateralised mortgage obligations

(CMOs):

() Plasned amortisation ¢lass (PAC), (1 mark)

(i) Support bonds. (1 mark)
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te)

QUEST
{id

{b)

(c)

)]

The following intormation refates 1o a collateralised mongage obligation (CMO) structure backed by $% collateral:

Tranche Par amount Coupon rate
(Sh.million) (%)
A 300 6.50
B 250 6.75
C 200 7.25
D 250 g8

A client wanis a netional interest only {101 with a coupun of $%6.

Required:
The notional ameount tor this novonal interest oniy (10 tranche. 16 marks)

Gireen Petivery Ld. (G has detauited on its senior unsecured debt. Popat Finance Ld. (PELY owns Sh.3 million or
bond sertes X as well as Sb.4 mtlhon in credit defiwh swap (CDS) protection. Bond N is now trading at 25% ol the
par value. Snowline Securitics Lul. (SSLY ovwns Shui0 millien of bond series Y, also senior unsecured debt which is
trading at 30%% of the par value. SSL has Sho9 million in CDS protection on bond Y,

Required:
The potential CDS pasout amounts o

(i Green Dehivery Lid, {2 marks;
£ aewline Seearties L. {2 marks)

{Total: 20 markst
ION THREE

Ureseribe the tollowing types of alterpative reai estare pnestiment vebicles:

it Exchange-traded tunds (37T U1 mark)
tii) Commingled real estate Tunds {UREFs). (| mark)
{iii} Syndications, {1 mark)
{ivy Teint ventures, {1 mark)
iv) Upen-end ceal estate muatuai fund. {1 mark)

Commodities are often viewed as an asset class that hedps investors diversily a portfolio of traditional assets (shares
artd bonds) due to low return correlation between commodities and traditional assets.

Required:
In relation to the above stitement. argue Tour cases why commodity returns might have low correlation relative w

traditional assets. {-} marks)
(i) OQutline theee benefits of applying price-to-tunds firom operations (P FFO)Y and price-10 adjusted tunds from
aperadions (P AFFO) muoltiple in the valuation of o real estate investment trust (RECT) and g real estate
operating company { REQC), (3 marks)
{ii) A financial analyst has gathered the following information relating w a real estare investment trust (REITY:
sh.
Non-cash (straight finet rent. 207.430
Depreciation 6L D00
Recurring maintenanee 1vpe capital expenditures
and leasing commission 330750
Adjusted fnds irom eperations (AFFO) 3320000
AFFO per share i
Required:
The REFTs Tund [rom operations (FEFQ) per share, (-} marks})

Suppose that wheat is trading in the spot machet at 5800 per bushel since bad weather caused a decrease in supply
during the previous hasvest. Market participants expect a bountiful harvest in about six months which is expected o
drive market prices down 10 5300 per bushel, Forward prices with delivery dates ater the ext hasvest are trading
the range of Sh.300 per bushel,

Reguired:
Explain how an webitrpzeur could attempt to profit fron the above prices. {4 marks}
{‘Lotal: 20 marks)
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QUESTION FOUR
{m) (i} Argue theee cases for the fast growth and concentration of the hedge fund industry in the recent past,
ihomirks)y

(ii) Evaluate three disadvantages of investing in tunds of funds. {3 imarks)
(b Identify three possible ways through which a leveraged buyoeut (LBO} firm could generate its revenis. (3 marks)
(¢} Burbon Limited. & venture caphtal fiom wilt require Sh.3 million in the first round of financing and 4 second round of

financing three years later of Sh.2 million to finance the firm's expunsion to the size expected @ exn. The finn is
expected 10 be worth Sho40 million after five sears. The founders will hold 1 militon shares,

The refevant discount rate is 44%0 for the fiest three years and 30% for the last (wao vears.
Required:
The price per share of Burbon 1.td. at the time of second round of linancing. {8 marks)

(Totai: 20 marks)

QUESTION FIVE

() Examing three reasons that could motivate an Cntity to enter into a credit default swap agreement. (3 marks)
(b) Deseribe three distressed debt investment strategics. (3 marks)
(c) Propose four strategies which could be used by leveraged buyout {LBO) fiems to exit investments, {- marks)
(d) A 1 2-year-old industrial property is being valued using the cost approach. The appeaiser feels that it has an ellectiye

age ot |5 years based on its current condition. For instance, there are cracks in the foundation that are not Jeasible o
repair (incurabic physicai depreciation). That is, it would cost more to try 1o repair these problems than the value that
would be created in the property. The appraiser believes that the industrial property has 60-y¢ar remaining economic
life (73-year total economic liie).

The building was constructed using a greater ceiling height than users require in the corrent market {super-adequacyy.
It would cost $h.27 milfion 10 reproduce (reproduction cost) the building with the same ceiling height ban Sh.23
million to construct a replacemem property {replacement cost) with the same utility but a normal ceiting height. The
higher ceiting results in increased heating and air conditioning costs of Sh.30.000 per annum. A capitalisition rate thit
would be used to value the prapeety would be 10 per eent,

The building was designed to include a caleteria that is no longer functional (lunctional obsolescence). This area can
be converted (o usable space at a conversion cost of Sh.25.000 and it is believed that the valye of the property would
increase by at Teast this amount (curable fonetional obsolescence),

The rool needs to be replaced at a cost of Sh.250.000 and other necessary repairs amoum to Sh.30.000. The costs of
these repairs will increase the value of the building by at {east Sh.300.000 (curable physical depreciation),

The rond providing access to the property is 1 two-kine road. whereas newer industrial properties are aeeessibie by
four-lane roads. This has 1 negative impact on rents (locational obsolescence). which is estimated 1o reduce the net
operating income (NOIY by Sh. 100,000 annadly,

Based on comparable sales of vacant tand. the land is estimated to be worth Sh.s million,

Requived:
Estimate the value of the land using the cost approach., ¢ 10 marks)
{Total: 20 marks)

e e

CFS3 Page 3
Ouiold




Present Value of 1 Received at the End ot i Penods:
I':

V] = Ty = {1y R
£
Povod 1% Zh 3% d%  SW &% 7w 8% 9% 9% _ 124 4w 5% 16%  a% 20 24 9w 3% 6%
Lo 00 8804 9705 9615 9524 9434 936 ISY S1T4 3031 6920 ATIZT 86 &2 D475 833 80GS 1013 7576  7asa
I’ 9833 9612 833420 5236 9470 a0 BT a5ty mn7 B264 o2 T655 T561 7432 7182 63K 5504 A0 5738 s407
39705 8423 SIST G630 8630 M3 GI6)  TIIE TTZ2 TSNY TU1G 5750 8575 G407 8086 5707 5245 4768 a3sp 3975
§0 9510 9238 B335 BSME 8227 7IN 629 IS0 084 B30 IS5 5SI1  STIO 552 s1se 4423 4230 724 2294 732
5 SS15 3057 526 8213 7835 TAT3 7130 6806 8499 6203 3674  Si34 4972 ATA 43P 4013 3441 2900 2498 2143
$ B30 8800 6375 7303 7462 7050 666) €302 5350 5645 5066 4536 4323 4104 3704 M5 2051 2274 1090 1500
T 937 6708 B131 7593 7107 6651 6227 5835 5470 5132 4520 3985 35S 3538 3139 2791 2298 -77¢ 1432 1462
8 2235 8333 7BM 7307 6766 6274 5620 503 5418 4665 4039 3506 3269 3050 2660 2326 (789 1298  108s 0854
§ 143 B3®E J66a T0ZE 6445 3319 5633 5002 4604 4241 3805 JOTS 2643 2530 2255 1338 1443 1064 0822 0528
109053 201 7441 6755 6739 5364 5083 4532 4224 IBSS 3220 2637 2472 2267 1311 4615 1184 0847  o3s 0462

-1 BSE3  BOA3 7221 B4%6 5847 3268 4T51 4203 3975 3505 2075 23166 43 1953 I61E AME 0938 0562 04T o
12 BBT4 THBS . TOt4 5246 5568 4970 4440 337t 3555  MBE 2567 2076 (469 1885 1372 1422 07ST 0517 0387 0250
13 8767  TTM £810 5006 530 4688 4150 35T 3262 IBST 2292 482t 1625 1452 (163 093§ 0510 D4 0271 G134
14 BTOQ 7579 8611 57T5 5051 4421 ABTE 3405 230T 2633 20486 1997 1413 1257 0385 07T 0482 0ItE 0205 0135
15 BE13 T4 €419 5553 4810 4173 3624 152 745 2334 1827 14D 1729 1079 OBIS G649 0357 OM7 0185 0099

16 8528 TIB4 6232 5339 4581 3836 3387 2919 2519 M6 1831 1229 1069 0930 0709 .0MM1 0320 Q19) atig 0073
17 B4d4a 7142 8050 51 4352 aTi4 3188 2703 2361 1878 1488 1078 0939 G802 0500 Q451 0258 0150 00O DOs4
19 B3G0  TO02? w74 4936 4755 3503 2955 2507 .24 2W 9795 1300 0346 0908  06S1 D508 QATE 0208 0416 0058 0039
19 BITT €964 5TC1 4746 3857 3305 ZTES 2T 1445 AB35 1181 0829 Q703 0596 0439 023 0168 0092 0051 Q03
20 B133 8730 5537 4564 376%  31t8 2584 2145 1764 1486 1037 0728 0541 0514 O3S 026F 01 3% 0072 0039 oo

1% 798 8095 4TTE 3THY 2953 2330 1642 4480 1160 0923 0588 0378 Q34 0245 0180 Q105 OMdE 0021 0010 0005
30 7419 5521 4120 3063 234 745 1314 Q994 0734 0573 033 0196 G151 D116 DOTC 0042 O0ME 0006 0502 .00
<4 AT17 4329 3066 B 1420 0972 066 Maso e G M0 053 0037 3028 O3 Gog7 0002 0ot

0 608G 3715 2281 1407 D872 G543 0339 G213 G134 Q0BS 0035 0014 0003 0006 0003 0O .

B0 3504 48 1697 0551 0335 0303 072 0038 0657 0033 001t 0 0002 oD .

* The factor is zero to four decimal places

Present Value of'an Annuity of 1 Per Penod for n Penods:

L
I- -
“
. (L+ 1y
PVIF =% = —
LS P { |+ r
e
BlyTmenis 1% 2% I 4% Exy 6% % 5% % 0% 12% 144 1% 18% 10% 20% 24% 28% 2%
1 09301 09804 0.3709 09615 (98524 0943 09346 09259 09174  0.508% 06329 08772 0669 0.8521 Q8475 0.B333 Q8065 07913 07578
2 18704 19416 1.5135 18661 18534 1833 18080 1.7833 5.7531 1 7385 16201 16467 1g257 16052 15656 1.5278 1.4568 LIFE 123315
3 19010 28839 28285 271V5%  2.7332 28730 26242 25771 2.5M3  2.4883 24018 23216 22832 22483 21743 21065 1943 18884 | TES3
4 39020 28077 AT 36299 3 Sagn 34651 33877 A3 37397 34653 30373 28137 78550 27982 2.6%01 15887 24043 2.2410 20957
S 48334 47135 45797 44518 43295 47124 41007 39327 daser 37900 36048 34331 33522 IITAT A1) 2905 274 25320 22452
& 57955 56014 54172 52421 = g7sT 49173 47655 46229 44855 43553 4 1114 3.8807 37845 6847 32497 33255 3.0205 27594 25347
H 6.7282 64720 6233 60020 57864 55624 53893 52084 50330 49684 45538 4.2883 41604 40386 3815 146046 32423 29370 25775
4 TE3INT TS5 0197 67307 6.4632 6.2098 59713 57466 S$35340 53M9 49676 46389 44873 4. 3436 40776 38372 3471z 3g07se 2 1860
9 83580 81622 T.7831 TM35) 7.107€ G.AOM7 65152 62409 53952 57550 53282 49464 4TTI6 L6065 43030 40210 35655 31847 2.8581
10 94713 B9O2E 8502 AN TTNT TIEM 702 B0t SMFT g 1446 58507 52161 50183 48332 4341 40925 3eEie 32689 7 9304

' 133676 97868 9.2526 B.T60S B8.3I054 7 BRGY 74987 T30 68057 5.4951 39377 54527 52337 So0384 4E360 431 3TTST 33351 2 3776
12 112351 10578 2.9540 223851 A9633 B8 T47T 7831 Taenr 8137 E13d 58803 54308 SAST1 47932 44382 385l 32868 30132
13 12337 113484 106350 9.90%6 59,3936 B.8327 @3577 73028 74pSY 7sOMd 6.423% 58424 55631 53471 49093 43327 39124 34272 10404
14 13.0037 121062 11.2961 105631 938986 32950 87453 B.244T T TA62 73467 66282 60021 57245 S5467S 5.0081 45108 39615 34507 3.0609
15 138531 12,8493 119379 11 41184 103797 £T122 91073 65595 DO80T THOBT  S810% 41422 8pard 8 3735 50916 48755 4.0043 1484 30764

18 VATITI A35TFF 125611 14 6523 10.8378 101039 94466 80514 831725 THI3T 69740 6.26851 59542 46685 50824 47296 40333 3.5026 88z
17 135623 142913 131661 124657 112741 10,4773 97637 91216 84438 B.OZ16 71185 6I72% 60472 57497 S.2223 4776 40531 3 sy o9y
18 163983 14.9%20 12,7535 12,658 T18896 10.6276 100501 93718 87556 82014 72497 S 4674 1200 5BITE 5273 4E122 4.0735  252%1 11039
13 177260 156785 143233 121335 120853 FUI581 103356 9.6036  B.9501 8.3Gae 7 3656 65504 $.1982 S8HIS 33162 48435 40967 35386 3 050
20 180436 1523514 148775 13.5903 124670 1 14599 1050 98191 99785 RS 7 QB34 5623t 62583 sopg 53527 ¢ BG98 4 110) 25158 Y1129

29 0232 19,5235 174131 196221 14.0%39 127834 11,6536 105740 38224

SOITY TR S6729 G441 6097 54682 43478 1474 3 &34 Y122

3 23 8ATT 223955 19800 17 2923 157775 12.7648 12,4030 112578 102737 44
37

@

3 20557 70027 55660 & 1777 55168 19789 1.16m1 3 5891 11242
92438 11050 Se118 22338 3 Y AMEE 1658 3 5T(D IS0

48 FIS ¥ 1327 BLE0% 5 AT DELIT M8393 A gss 31 57a y1ase
G753 T2 EIIS 143233 161612 qa GIB2 123785 11 0ina 59570 F3Z4T Tt S 5aR1 5 2407 TABSL 4 a9R 19857 3 5via AT

42 JTEMT 273355 30043 107926 171301 150453 19 33T 11,9248 10 7874
33 30105t 314235 257258 21 2892 197283 (87419 128007 122333 109617
2 A15850 3t Yeog 274




KASNEB

CIFA PART Il SECTION 5

ALTERNATIVE INVESTMENTS ANALYSIS

THURSDAY: 24 November 2016. Time Aliowed: 3 hours,

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE

(a)  Describe the following classes of modern alternative investments:
(i) Managed futures. (I mark)
(ii) Hedge funds. (! mark)
(iii)  Distressed securities. (I mark)

(b)

(c)

{d}

(c)

Highlight three errors that an investment analyst could make when valuing real estate investments trusts (RELTs) using
the discounted cash flow method. (3 marks)

An arbitrageur trades gold when the spot price is 400 United States Dollars (USD) per ounce (0z) while one-year futures
contract price is USD 460/0z. An investor can borrow or lend funds at a rate of 10% per annum.

Assume that the transaction cost is 3%6.,

Required:
The arbitrage profit from this transaction. {6 marks)

A single tenant office building was leased six years ago at a price of Sh.2,000,000 per year. The next rent review occurs
in 1wo years time. The cstimated rental value (ERV) in two years bascd on the current market conditions is
Sh.3,000,000 per year.

The all risk yield cap rate for comparable fully - let properties is 7%. Due to lower risk, the appropriate rate to discount
the term rent is 6%.

Required;
The value of the office building. {5 marks)

Ten equally weighted representative paths are used in the Monte Carlo simulation model. For the different spreads used,
the present value of each representative path {or a collateralised morigage obligation {CMO) tranche is as shown below:

Present value il spread is:

Representative path 75 basis points (bps) 80 basis peints (bps) 85 basis points {(bps)
l 72 62 65
2 77 75 72
3 &1 79 76
4 84 81 77
5 69 65 63
6 83 8l 77
7 91 87 83
8 87 8s 81
9 69 66 62
10 93 59 56
The market price of tranche Y is 74,
Required:
The option adjusted spread (OAS) of tranche Y. (3 marks)

(Total: 20 marks)

CF33 Page 1
Out of 5




QUESTION TWO

(a)

(b)

(c)

(d)

(&)

(i) Evaluate three contrasts between “venture capital” and “buyouts™ as used in private equity investments. (3 marks)

(ii) Venture capital firms have become increasingly specialised as a result of the intensive knowledge base required
to invest in the technology, telecommunications, and biotechnology industries. Specialisation has expanded
further to include the stage of investment in the life cycle of a start-up company. Unfortunately, specialisation
has led 1o concentrated portfolios, the very anathema of reduced risk through diversification. This concentration
has led to the need for higher risk premiums.

Required:
With reference to the above statement, assess three main risks that could contribute to the higher required risk
premiums for venture capital. {3 marks)

Discuss three considerations that should be taken into account when forecasting long-term growth rates for real estate
investment trusts (REITs) and real estate operating companies (REQOCs) using the discounted cash flow approach.
(3 marks)

Ali Musa is an alternative investments manager at Venus Capital. He is considering analysing a two-tranche (a PAC |
tranche and a support tranche) from a collateralised mortgage obligation (CMO) that was issued 18 months ago. When
the CMO was issued, the initial collar of the PAC 1 tranche was 150-400 PSA. He estimates the change in the average
life of each tranche as the prepayment speed varies, assuming the prepayment speed stays at that speed until the tranche
matures. The results are as shown below:

Average life of tranches XX and tranche YY for varying prepayment speeds:
Average Life

PSA speeds Tranche XX Tranche YY
0 219 12.2
50 17.5 8.9
100 13.2 5.1
150 9.1 5.1
200 4.3 5.1
250 3.6 5.1
300 29 5.1
350 2.0 4.7
400 1.4 39

Note:

s PSA is the public securities association, a model for analysing mongage-backed securities,
»  PAC is the planned armotrtisation class.

Required:
(i Determine the most likely support tranche, {2 marks}
(ii) Determine the effective collar of PAC 1 tranche. {2 marks)

A real estate investment with an initial cost of Sh.45 million was sold after five years at a price of Sh.75 million. The
cost associated with the sale was Sh.5 million, and the tax depreciation in cach year was Sh.2 million. At the time of the
sale, the outstanding mortgage balance will be Sh.34 million. The tax rate on recaptured depreciation and the long-term
capital gain tax rate is 30%.

Required:
The equity reversion afler tax for this real estate investment. (3 marks)

Stela Wambua is conducting due diligence on a hedge fund lor a pension fund. She gathers the following information
relating to the structure of the fund:

1. The fund employs three people - two principals; Samuel Mulati and John Omulundo, and an administrative
assistant. Samuel Mulati’s prior work experience is 10 years as an equity analyst at Jeremy Investment Bank and
prior to that as an associate at a law firm. He holds Bachelor of Business Administration (BBA) and Bachelor of
Laws (LLB) degrees. .

2. lohn Omulundo worked for three vears as an equity fund manager at a medium size mutual fund. Prior to that, he
was a corporate finance associate at a start up investiment bank,
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The principals are employed on contract basis,

4. The fund’s relationship with its prime broker extends back two years. The fund has used only one prime hroker
since it was formed. The prime broker is a prestigious firm ranked number two by rating agencics in the
brokerage business,

Hedge fund strategy:
*  The fund invests in both fixed income and cquities markets.

* The fund buys 10-year Treasury note and borrows short-term loans abroad in markets that have particularly low
interest rates to earn, currently, a positive spread.

*  The fund conducts merger arbitrage involving the securitics of the target and acquirer.

Legal strategy:
The fund has a 1 and 20 fee structure and a two-ycar lock-up period.

Required:
Based on the above information, analyse four risk factors associated with this hedge fund investment. {4 marks)
(Total: 20 marks)

QUESTION THREE

(a)

(b)
(c)
(d)

(i) Rescarch and Devclopment (R & D) and patents provide an important insight into intellectual property (IP) in the
context of the establishment and preservation of property rights. Unlike tangible assets, for which property rights
are typically indicated by possession and usually clearly established, IP often raises challenges regarding its
potential non-excludability.

Required:
In the context of the above statement, summarise five risks associated with investment in patents as a category of
intellectual property investment. (5 marks)

{ii}  Institutional investors have recently expressed an increased interest in the returns preduced by direct ownership of
real assets, and in particular farmiand assets.

Required:

in refation to the above statement. discuss three factors that have motivated institutional investors to venture into

farmland investment. (6 marks)
Highlight two assumptions of models used in the valuation of mortgage-backed securities. (2 marks)
Describe two conditions necessary to value a security using Monte Carlo simulation model. {2 marks}

A venture capital fund manager is considering investing Sh.25 million in a new project that he befieves would pay
Sh.120 million at the end of five ycars. The cost of equity for the investor is 15%. The estimated probability of failure
is presented below:

Year | 2 3 4 5

Probability of failure  0.20 0.20 0.17 0.15 0.15

Note: The above probabilities are conditional probabilities since they represent the probability of failure in vear N,
given that the firm has survived 1o year N.

Required:
(i) The net present value (NPV) of the potential invesiment. {4 marks)
(ii) Comment on the decision you would make based on the results obtained in (d)(i) above. (t mark)

{Total: 20 marks)

QUESTION FOUR

(a)

With respect 10 commodities markets, describe the following indices:

(i) Value-based index. (I mark)
(ii))  Quantity-based index. (1 mark)
(iii)  Total return index. {1 mark)
(iv}  Excess return index. (1 mark)
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(b)

(c)

(i) Discuss three functions of a private equity fund manager. (3 maks)
(ii) Describe three differences between private equity fund and quoted equity fund. 12 marks)

Furaha Property Investment Limited is intending to purchase a complex of 20 specialty retail shops. At this time, 18
units are occupied under graduated leases with five years currently remaining, and two units are vacaat. Each of the
units measures approximately 2,000 square feet. Under the existing leases, current rents {for year 2016) are in line with
market rates at Sh.12 per square foot a year, and all lease agreements are reviewed at the beginning of each year, An
analyst, Fatuma Juma who works for Furaha Property Investment Limited has assembled the following facts to assist her
in valuation of the property which is offered at $h.4,500.000:

1. Under the graduated lease provision, rents will increase at a rate of 5% per year in line with expectations for the
commercial rental market.

2. Vacancy rates of 10% are considered typical in this sector.

3. The current tax rate is Sh.18.50 per Sh.1,000 of assessed valuation. The property is assessed for tax purposes at
Sh.4 million. Neither the tax rate nor assessed value is expected to change in the next one year,

4, The landlord is responsible for all real estate taxes, exterior maintenance, comprehensive insurance, management
expenses and repairs or replacemenis.

5. The following cost elements are expected to increase at a rate of 3% per year for the foreseeable future:

2016 Cost Elements

*+  Maintenance: General maintenance costs are Sh.500 per month,
* Insurance: Annual premium for comprehensive insurance is Sh. 10,000,
s  Management: Annual management expenses are $h.25,000.
s Repairs; Allowance for repairs and replacement is Sh.15,000 per year,
6. Recent sates price and projected net income for properties comparable to Furaha Property Investment Limited are

shown below:

Property A Property B Property C
Price (Sh.) 3,525,000 4,875,000 2,350,000
Net operating income (Sh.) 246,750 438.750 188,000
7. Fatuma Juma intends to consider an alternative capitalisation raic using a band of investment technique. If the

investment is made, Furaha Property Investment Limited will pay 20% in cash and finance the remainder over a
period of 30 years. Given the prevailing terms of 7% a year on a 30-ycar mortgage with monthly payments. the
mortgage constant will be 0.0719,

8. Fatuma Juma believes (hat the cquity capitalisation rate is 10%.
Required:
{i)  Furaha Property Investment Limited’s net operating income (NOI) for year 2017. (5 marks)
(it} The investment value of the property using the direct capitalisation approach. (3 marks)
(iii)  The overalt capitalisation rate using the band of investment technique, {2 marks)

(Total: 20 marks)

QUESTION FIVE

(a)
(b)

Evaluate two managed futures trading strategies. (4 marks)

Discuss how each of the following factors would most likely affect the prepayment risk of the mortgage-backed pass
through securities:

(i) Coupon rate of the mortgage. (2 marks)

(i)  Age of the mortgage, (2 marks)

(ili)  Seasonality. (2 marks)
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)

(d)

A passive manager purchases a position worth Sh.50 million in underlying value of a commodities futures contract. The
manager aiso buys Sh.50 million worth of 10-year Treasury bonds that pay an interest rate of 5% per annum. Aficr the
end of one month, the commodities futures contract position has appreciated by 2% and the price of the !¥-year
Treasury bond is unchanged.

Required;
The gain in the value of the position. {2 marks)

An investor owns two 30-year original maturity mortgage-backed securities (MDBS), MBS-A and MBS-B. He uses the
10-year Treasury yield as a relative measure to gauge the level of current 30-year home mortgage rates. Over the past
four years, the 10-year Treasury yield has dectined below 5.50% three times, subsequently rising above 6.50% each
time. The 10-year Treasury yield is currently at 6.50%.

The foliowing information relates to the two mortgage-backed sccurities:

Issue Coupon Weighted average Price Current month
(%) maturity (months) (Sh.) PSA CPR
MBS-A 7.50 355 100 500 5
MBS-B 7.50 260 100 200 12
Note:
. PSA is the prepayment scale developed by Public Securitics Association (PSA) for analysing mortgage-backed
securities.
. CPR is the conditional prepayment rate, a loan prepayment rate equal to the proportion of the principal of a

pool of loans assumed to be paid off prematurity in cach period.

Required;
(i) Explain the difference in the prepayment sensitivity of the two sccuritics assuming a fiture decline in the [0-year
Treasury yield of slightly more than 100 basis points. (4 marks)

(it Determine, with reasons, the security that would realise a higher percentage of principal prepayment, based on the
current month PSA and CPR prepayment data. (2 marks)

(i)}  Describe two reasons why prepayments are likely to be more stable for automobile receivable asset-backed
securities when compared to similar duration mortgage-backed sccurities. {2 marks)
{Total: 20 marks)

-----------------------------------------------------------------------------------------------------
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KASNEB

CIFA PART 111 SECTION 5

ALTERNATIVE INVESTMENTS ANALYSIS

THURSDAY: 26 May 2016. Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE

{(a)

(b)

()

Hedge funds were highly proficient at attracting capital prior to the world financial crises that began in 2007. However,
in the recent past, hedge funds have increasingly competed with private equity firms in the purchase of corporate assets
in the search for attractive opportunities in which 1o invest capital.

Required:
With respect 1o the above statement. evaluate five major differences between typical hedge fund incentive fees and
typical private equity fund incentive fees. (5 marks)

Mezzanine debt can be viewed as filling either a gap in a company’s financial structure or a gap in the supply of capital
in the financial markets. This makes mezzanine financing extremely tlexible,

Required:
In the context of the above statement, explain five characteristics of mezzanine debt that help to distinguish it from the
other sources of financing and other types of investments. (5 marks)

An investment management firm is considering the foliowing three investments in real estate:
1 Direct investment in an existing office building.

2. [nvestment in a public equity real estate investment trust (REIT).

3 Equity investment in a public real estate operating company (REOC).

The data relating to the investment is presented below:

Option 1: Direct investment in an office building

Expected net operating income: Years 1-7 Sh.7.0 million
Expected net operating income: Year 8 $h.8.5 million
Required refurn on equity investment 10%.
Net operating income growth rate after 8 years 3.25%.,

Option 2; Real estate investment trust (REIT)

Recent net operating income Sh. 140 million
Non cash rents Sh.5 million
Full year adjustiments for acquisition Sh.5 million
Other assels Sh.50 mitlon
Totat liabilities Sh.306 miltion
Cusrent market price per share Sh.125
Shares outstanding 15 million
(Going in cap rate 7.00%
Net operating income growth rate 2.50%

Option 3: Real estate operating company (REOC)

Expected adjusted funds from operations (AFFO) in year 8 Sh.13.5 million
Holding period 7 years
Present value of all dividends for 7 years 5h.39.7 million
Shares outstanding 1.0 million
Cap rate 7.0%
Growth rate from year 8 2.50%
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Additional information: .

1. The office buitding under consideration has existing tenants with long term leases that will expire in seven vears,

2. The real estate operating company {REOC) terminal value at the end of seven years is to be based on a 5rice to
adjusted funds from operations {AFFO) multiple of 12 times ([ 2x).

Required:
(1} The estimated value of the office building using the discounted cash flow approach. {4 marks)

(ii) Determine whether the real estate investment trust (REIT) is fairly priced using the net asset value (NAV)
approach, (3 marks)

(iii}  Calculate the estimated value per share of the real estate operating company (REOQC). (3 marks)
{Total: 20 marks)

QUESTION TWO

(a)  Discuss the tollowing equity hedge fund strategies:
(i) Market neutral strategy. {1 mark)
(i)  Sector specific strategy. : | {1 mark)
(iii)  Fundamental growth strategy. ¢F mark}
(iv)  Quantitative directional strategy., {1 mark}
.{v) Short bias strategy. (1 mark)

(b)

(<)

Representativeness is the key aspect of hedge fund databases and indices. The representativeness of a sample is the
axtent t0 which the characteristics of that sample are sinilar to the charactesistics of the wniverse. I the sample
consistently favours inclusion of observations based on a particular characteristic. then the sample is biased in favour ol
that characteristic,

Required:

B:sqel:j"; the atorementioned statement, assess the tollowing data biases associated with hedge fund databases,

(i Survivorship bias, _ {1 mark)
(il Selection bias. i1 mark)
(i} Instant history bias‘backfill bias. 1 mark)
(ivl  Liquidation bias. (1 mark)

Ukulima University endoswment {ind makes an imestment in a venture capitad fund known as 3eta Fuad with a vintage
year of 2013 and committed capital of Sh. 195 milkion. The distribution watertatls calls for a 20° carricd interest when
the net asset value (INAV) before distributions exceeds the committed capital.

The pertormance of Sh.195 million of the ventoure Beta Fund capital is shown below:

Year Called down Management fees Operating results
Sh, “million™ $h. *millien™ She cmillion™
2013 30 0.43 -10
2014 25 0.83 55
2015 75 .95 73
Required:
(i} Caleulate the vear 2015 percentage management (ve of the Beta Fund. (3 marks)
(i) Determine the net asset value (NAV) of the fund afier distributions tor the year 2015, {4 marks)
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(d)  Stephen Ayabi, a private equity fund analyst is evaluating fund A and fund B whose information is provided below:
Fund A Fund B
Gross internal rate of return {IRR) 22.1% 2.4%
Net internal rate of return (IRR) 17.6% -0.3%
Performance quantile ! 3
Distributed to paid in capital (DPI) [.43 0.29
Residual value to paid in capital (RVPI) 1.52 1.03
Total value to paid in capital (TVPl) 2.95 1.32
Maturity of fund 6 years 4 years
Required:
Compare the financial performance of private equity fund A and fund B. {4 marks)
(Total: 20 marks)
QUESTION THREE
ta)  Lxplain three ways of categorising inlrastructure investiment as an aheesative assel. (3 marks)
(b}  Commoditics are olten viewed as an asset class that is distinet from shares and bonds (Iinancial assets) in several
regards.
Required:
In relation 10 the above statement. discuss three reasons that might make commiodity prices not to hiave high positive
correlation with share prices and bond prices. (3 marks)
(¢)y  Highlight two disadvantages of investing in each of the following private real estate invesiment vehicles:
(i} Private equity read estate dunds, {2 marks)
(it} Commingled real estate tunds (CREEFs} {2 marks)
(dy  Oduor Ohkoth is considering an investment in & two-sequential pay tanche coliateralised morntgage obligation (CMQ)
and would Jike 10 understand how the cash Bows are paid. Principad payments are made Arst to the highest seniority
tranche, tranche AL and next to the lower seniority tranche. Franche 15,
The CNMO structure is as Jollows;
Tranche Outstanding par vadue Coupon rate
Sh. “mitlion"™ Yy
A 200 7
1) 106 7
Fhe total principal prepayments. both scheduled and unscheduled. are ShoA36.330 in month £,
Required:
Cateubate the cash tlow allocation in Month 1. (6 marks)
(w) A speculator trudes crude oif when the spot price is 40 United States dotlars (USID) while the expiring [uteres

contraet is priced at 42 USD. Sometime Later. a new futures contract is priced at 45 USD while crude eil is
currently priced at 4280 USD.

Required:
The rolk vield. {2 marks)
(i) Anassel is prived at SIL. A tutures contract on the asset expires in 75 days. The risk free nterest rate is 704

v
The underlving asset’s storage cost at the Tutures eapiration is equal o Sh.3.00 and the compound value at the
time of the tutares expiration of the positive cash Tows trom the underly ing asset is Sh.0.50.

Required:
The appropriate [utures price. {2 marks)
(Total: 20 marks)
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QUESTION FOUR

(a)

(b)

(c)

(i) Analyse three risk factors associated with real estate investment, (3 marl's)
(i) Evaluate three disadvantages of investing in real estate through publicly traded securities. i3 marks)

Jabavu lnvestments Services (JIS) operates as a hedge fund with an initial capital of Sh.3350 billion. 118 charges a 3.2
per cent management fee based on assets under management at the end of the year. JIS also charges a 32 per cent
incentive fee based on returns which are beyond a £0.2 per cent hurdle rate. In its tirst year, 518 hedge fund appreciates
by 17.2 per cent. JIS calculates its management fees using end-of-period valuation.

Required:
The investors net return.
{ Assume that the performance fee is calculated net of management fee). (4 marks)

The table below shows monthly returns for a hedge fund and an index portfolio. The hurdle rate is the 91-day Treasury
Bitl rate. assumed to be 10% per annum.

Month Jamnary .[ February | Mareh | April | Vay | June | Sulv | August | September | Octoher | November | December
ledge
lfund retum 7.1 2.1 -1 S -2 e |2 33 33 7.3 0.9 -6.5
o)
Lindes
return (*e) -9 | -8.1 =33 6.1 -85 41 5 -43 -4 1.1 62 0.5

The calculated annualised standard deviations for the hedge fund and the index are £6.84% and 17.87% respectively.

Reguired:
(i The annualised downside deviations for the hedge fund and 1he index. (3 marks)

(ii} Contrast the results obtaised in (c)i) above wilh the caleulated annualised standard deviations above. {1 mark)
(i) The Sortino ratio for the hedge tund and the index. (5 marks)

(ivk  Comment on the performance of the hedge fond against the performance of the index portfolio based on the
result obtained in ()il ) above, (1} mark)
{Total: 20 marks)

QUESTION FIVE

{a)

(b)

()

iy

) Explain the term separately managed accounts (SMAs) in relation to alternative investments. (1 mark)
(il Laatuate tour ways in which separatehy managed accoums difter [rom a fund. ¢4 marks)

Describe four categories of outside service providers as major participants in the world of alternative investments.
(4 marks}
An asset backed security (ABS) structure has the following data:

senjor tranche Sh. 150 million.
Subordinated tranche A Sh.60 million.
Subordinated tranche 3 Sh.20 million.

Fhe assels in the pool are worth Sh.250 miltion

Reqaired:
Determine the amount of losses at which the senior tranche investors would begin to lose money. {3 marks)

Fhe tollowing data relates o selected mortgage backed securities (MIB3Ss).

MBS Initiat principal Coupon Undertying Neminal Option Z-spread
Sh. *millions™ rale maturity spread adjusted (%)
{%) (years) (%) spread (%)
W 250 7.0 30 1.21 0.28 0.79
X 175 7.8 25 .43 0.49 1.16
Y 225 7.2 20 1.62 0.31 1.12
Z F90 8.0 30 .59 0.40 1.14

CF53 Page 4
Outof 5




(e}

The outstanding principal of MBS-Z is Sh.183 million at the beginning of month 20 and the total mortgage principal
payvment for the month is 5h.0.42 million,

Required:
(i) Calculate the expected prepayment for month 20 using £25 public securities association (PSA). {2 marks)

(iiy  Justify the MBS that would add the most relative value in relation to the risk associated with the security,
assuming the effective durations of the MBS securities is approximately the same. (2 marks)

A cash funded collateralised debt obligation (CDO) has a reference pool of assets that consists of 50 loans. The notional
amount of each loan is Sh.5 million. The mezzanine tranche for this CDO has a notional value ot $h.20 mitlion. and the
spread is 90 basis poinis. The loss given default is 60%. The mezzanine tranche has a lower attachment point of 2%
and a tranche width of 3%.

Required:
The loss for the mezzanine wranche if six defaults occur. (4 marks)
(Total: 20 marks)

.........................................................................................................
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KASNEB

CIFA PART III SECTION 5
ALTERNATIVE INVESTMENTS ANALYSIS
THURSDAY: 26 November 2015, Time Allowed: 3 hours.
Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings. . -

QUESTION ONE
{a)  Highlight six types of risks associated with infrastructure as a form of alternative investment. {6 marks)

(b)  Describe three investment characteristics of stripped mortgage-backed securities, (3 marks}

()  The ultimate goal for private equity investment is to improve new or under-performing businesses and exit them at high
valuations. However, the time to exit can range from less than six months to over 10 years.

Required:
in relation to the above statement, examine three exit strategies pursued by private equity portfolio managers. (3 marks)

td)  Kipkorir Kipyegon is an alternative investment manager for Stanbib Asset Managers (SAM) which deals with
commaodities trading. He is currently investigating trading opportunities in the copper market. The spot price is $h.316
and the three-month forward contract price is Sh.313. He is contemplating implementing a reverse cash and carry
arbitrage to profit from the difference between the spot and forward prices.

Currently. Kipyegon can borrow or lend cash at the rate of 5% and the lease rate for copper is 6%. The borrowing,
lending and lease rates are all continuously compounded interest rates.

{I? ;qmrgl;cribc the two components of the synthetic commodity position in this arbitrage. (2 marks})
{(iiy  Compute Kipyegon’s profit on a reverse cash and carry arbitrage in the copper market. (6 marks)
(Total: 20 marks)
QUESTION TWO
(@)  Explain the following economic terms as used in private equity fund structures:
(i) Carried interest. {1 mark)
(i)  Ratchet. ) (1 mark)
(iii)  Hurdle rate. -+ (1 mark)
(iv)  Management fees. . . {1 mark)
{v) Vintage year. : . {1 mark)
(b)  Assess five ways which drives expansion of real estate investment trusts (REITs). (5 marks}

{¢)  An investor purchases a 30-year, Sh.500,000 level payment fully amortised mortgage with a fixed rate of 12%.

Required:
The outstanding principal at the end of three months. (3 marks)

(d}y  The original founder membérs of Madonge Ltd. are extremely optimistic and believe that the firm could be sold for
S$h.400 million in six years. To achieve this target, they speculate that the firm will require another capital infusion of
Sh.40 million in four years time in addition to the Sh.20 million capital investment today.
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Given the high risk of the firm, Madonge Ltd.’s private equity investors decide thatr a discount rate of 40% for the first
four years and 30% for the last two years would be appropriate. The founders of Madonge Ltd. intend to hold five
million shares.

Required:
(iH The firm’s post money valuation at the first round of financing using the net present value {(N®V) venwre capital
method. {4 marks)

(ii)  The appropriate share price after the first round of financing for Madonge Ltd.’s first round investors. (3 marks)
(Total: 20 marks)

QUESTION THREE

(a)

(b

(c)

(@

Kiraita Kindika is the chief invesiment officer of a pension fund which allocates a substantial portion of its assets to
private equity. The existing private equity portfolio is made up of large buyout funds, mezzanine funds and a limited
allocation to a special situations fund. The pension fund decided to further increase its allocation 1o a venture capital.

Required:

In relation to the above statement, summarise four differences between venture capital and buyout investing. (4 marks)

(i) Summarise four classifications ofheﬂge funds, (4 marks)
(iiy  Explain three regulatory concerns associated with hedge funds. (3 marks) .~

An investment analyst gathered the following data relating to three collateralised mortgage obligation (CMO) tranches:

Spread comparison

Nominal Zero volatility Option adjusted
spread (%) spread (%) spread (%)
Security X 2.12 1.67 0.00
Security Y 3.18 1.30 -0.27
Security Z 1.84 .46 0.67
Required:
Determine the most appropriate security for the investment analyst to invest in. (3 marks)

A collateralised debt obligation (CDO) is a $h.200 million structure. The collateral is expected to have an initial value
of $h.200 million. The collateral also consists entirely of bonds with 15 vears to maturity and a coupon rate equal to
15-year treasury bond rate plus 350 basis points,

The senior tranche represents 75% of the structure and carries a floating coupon rate equal to LIBOR plus 150 basis
points. There is only one Sh.20 million mezzanine tranche which carries a fixed coupon equal to the treasury rate at
origination plus 175 basis points. The manager of the Trust has entered into an interest rate swap under which the Trust
will pay an annual fixed rate equal to the treasury rate plus 125 basis points and receive LIBOR. The notional amount
for this swap is Sh.150 million. The I5-year treasury rate is 7.5% at the time of origination for this CDO.

Required:
Calculate the cash flow available to pay the tranche, (6 marks)
(Toatal: 20 marks)

QUESTION FOUR

(a)
(b)

(c)

Evaluate four ways in which investors could participate in commodity markets. {4 marks)

Discuss four challenges that could be encountered by investment professionals when analysing private equity
investments, (4 marks)

A critical investment feature that distinguishes commercial mortgage-backed securities (CMBS) from residential
mortgage-backed securities (RMBS) is the protection against early prepayments available to investors called “call
protection”. An investor-in RMBS is exposed to considerable prepayment risk since the borrower has the right to repay
a loan, in whole or in part, before the scheduled principat repayment date,

Required:
With reference to the above statement, explain four mechanisms that offer investors call protection at the loan level,
{4 marks)
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(d)

The general partner for a private equity fund charges a management fee of 2% and carried interest of 20% usi ng the total
return method. The total committed capital for the fund is Sh.150 million.

The following data relates to the above equity fund:

Year ' Cash flows
Capital called down Operating results Distributions
Sh. “million” Sh. “million” Sh. “miflion”

2010 50 -10 -

201 20 -25 -

2012 30 25 -

2013 20 50 20

2014 10 60 40

2015 10 110 80

Required:

Residual value to paid in (RVPI). {8 marks)

(Total: 20 marks)

QUESTION FIVE

(a)

(b)

(<)

(d)

(e)

Evaluate three key benefits of using price-to-funds from operations {(P/FFO) and price-to-adjusted funds from operations
(P/AFFQ) multiples in the valuation of real estate investment frusts (REITs) and real estate operating companies
{REQCs). (3 marks)
Discuss three sources of return for a commodity futures position. (3 marks)
Distinguish between the following terms:

(i) “Contango™ and “backwardation”. (2 marks)
(i) “Market-defensive funds of funds” and “strategic funds of funds". 2 marks)
Brian Nyanam has recently completed a monte carlo simulation analysis of a collateralised mortgage obligation (CMO)
tranche. His analysis includes six equally weighted paths, with the present value of each calculated using four different
discount rates,

The table below illustrates this information:

Present values:

Representative path At 50 basis At 60 basis At 70 basis
points spread points spread peints spread
! 70 68 68
2 73 70 68
3 68 66 64
4 71 69 68
3 77 75 73
6 75 73 71

The actual market price of the CMO tranche being valued is 70.17.

Required:
Determine the tranche’s option adjusted spread (OAS). {3 marks})
(i} Define the term “rolling return of a hedge fund™. {1 mark)
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(i)

The following information relates to a hedge fund’s returns and the respective index retums for twelve montis:

Month Hedge fund returns (%) Index returns (%)
January 3.50 -2.40
February 4.00 -4.00
March -2.00 -1.60
April -2.00 3.00
May -1.00 -4.20 ;
June 0.90 2.00
July -1.00 2.50
August 1.70 -2.10
September 2.70 -2.00
October 3.70 0.50
November 0.40 3.10
December -3.20 0.20
Required:
The average rolling return for the hedge fund if the investor’s investment horizon is nine months, (6 marks)
{Total: 20 marks)
.............. ™
."\
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KASNEB

CIFA PART 111 SECTION §
ALTERNATIVE INVESTMENTS ANALYSIS

PILOT PAPER

September 2015. Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question.

QUESTION ONE
{a) Consider the following asset backed security {ABS) structure:
Tranche Sh.
Senior tranche 200,000,000
Subordinate tranche A 150,000,000
Subordinate tranche B 70,000,000
Total 420,000,000

()

If the assets in the pool are worth Sh.450,000,000, what is the amount of collateralisation and at what amount of losses
will the senior tranche investors begin to lose money? (2 marks)

In the context of mortgage backed securities (MBS), explain five factors that affect prepayments and the types of
prepayment risks. (10 marks)

{c)  An appraiser has been asked to estimate the value of a warehouse. He has collected the following information:

Comparable Transactions
Unit of comparison Subject property 1 2 3
Size in square feet 30,000 40,000 120,000 35,000
Age in years 5 9 4 5
Physical condition Average Good Average Poor
Location Prime Prime Secondary Prime
Sale date months ago 6 18 12
Sale price 9,000,000 4,500,000 8,000,000

Each adjustment is based on the unadjusted sales price of the comparable. Properties depreciate at 2% per annum.

Additional information:

Since comparable No.l is four years older than the subject, an upward adjustment of S$h, 720,000 is made
[$h.9,000,000 x 2% x 4 years].

2. Condition adjustment: Good: +5%, average: none; poot:-5%. Because comparable No. 1 is in better condition than
the subject, a downward adjustment of $h.450,000 is made [Sh.9,000,000 x 5%)]. Similarly, an upward adjustment
of $h.450,000 is made [Sh.9,000,000 x 5%]. Similarly, an upward adjustment is made for comparable No.3 to the
tune of Sh.400,000 [Sh.8,000,000 x 5%].

3. Location adjustment: Prime - none, Secondary - 10%. Because both comparable No.1 and the subject are in a
prime location, no adjustment is made.

4. Over the past 24 months, sales prices have been appreciating at 0.5% per month. Because comparable No.1 was
sold six months ago, an upward adjustment of $h.270,000 is made [Sh.9,000,000 x 0.5% x 6 months].

Compute the value of the subject property using the sates comparison approach. (8 marks)

(Total: 20 marks)
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QUESTION TWO

{a)  Explain four alternative exit strategies in private equity and their impact on value. (8 marks)
(b}  Two private equity funds, fund X and fund Y, are being considered by an investor. Financial performancs of private
equity fund X and fund Y is shown below:;
Fund X Fund Y
Gross IRR 22.1% 2.4%
Net IRR 17.6% -0.3%
Performance quartile ] 3
DP! (Distributed to paid-in capital) 1.43 0.29
RVP!I (Residual value to paid-in capital) 1.52 1.03
TVPI (Total value to paid-in capital) 2.95 1.32
Maturity of fund 6 years 4 years
Required:
(i) Interpret and compare the financial performance of private equity funds X and Y, {5 marks)
(i)  Describe motivations for hedge fund replication strategies. (6 marks)
(iti)  Distinguish between alternative investments and traditional investments. (1 mark)
(Total: 20 marks)
QUESTION THREE
(a)  Jenga Ltd.’s bonds have a duration of 5.6 years and a convexity of 38.2. Tengeneza Ltd.’s bonds have a duration of
7.3 years and a convexity of 38.2.
Required:
Determine which bond is exposed to more interest rate risk when the interest rate increases by 100 basis points.
(2 marks)
(b) A company is valued at $h.10,000,000 prior to a capital infusion of $h.4,000,000 by a venture capital investor.
Required: _
The post-money valuation and the venture capital investor’s proportional ownership, {4 marks)
{¢)  Kumiko fund is a hedge fund with a value of Sh.100 million at the beginning of the year (an all-time high). Kumiko
funds charges 2% management fee based on assets under management at the beginning of the year and a 20% incentive
fee with a 5% hard hurdle rate and uses a high water mark. I[ncentive fees are caleulated on gains net of management
fees. The ending values before fees are:
Year 1: Sh.125.75 million.
Year 2: Sh.127.40 million.
Year 3: 5h.138.44 million.
Required:;
The total fees and investor’s net return for all three years. (14 marks)
(Total: 20 marks)
QUESTION FOUR
(a})  Describe the three broad strategies applicable to hedge funds. (15 marks)
(b)  Explain the following terms as used in commodities:

(i) Contango. {1 mark)
(i)  Back Wardation. . (1 mark)
(i) Collateral yield. (1 mark)
(iv)  Price return. (1 mark)
(v}  Roll yield. (1 mark)

(Total: 20 marks)
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QUESTION FIVE

(a)

(b}

()

(d)

James Adanje, a quantitative analyst dealing with commodities investments for Alpha investment recently retumed! {rom
a seminar. In that seminar, Jack Baker, a well publicised quantitative analyst at national brokerage firm, discussed one
of his new models in great detail, and Adanje was intrigued by the new concepts, He proceeds to test this madel making
some minor changes but retaining the overall concept, until he produces some very positive results. Adanje quickly
announces to his supervisors at Alpha Investment that he has discovered a new model and that clients and prospective
clients alike should be informed of this positive finding as ongeing proof of Alpha’s continuing innevation and ability to
add value.

Required:
Explain whether Adanje has violated any ethical principles applicable in the investment and financial analysis
profession, (5 marks}

Assume the current spot price is Sh.1500 per bag of wheat and the effective monthly interest rate is 1%, The monthly
storage costs for wheat is $h.40 per bag.

Calculate the 3-month forward price for a bag of wheat. (7 marks)

A real estate lender agreed to make a 10% interest-only loan on a property that had just been appraised for Sh.1.200.000
as long as the debt service coverage ratio is at least 1.5 and the loan-to-value ratio does not exceed 80%.

Required:
The maximum loan amount assuming the property’s net operating income (NOI) is Sh.135,000. (5 marks)
Distinguish between traditional investing and hedge fund investing. ‘ ‘ {3 marks)

(Total: 20 marks)

-----------------------------------------------------------------------------------------------------
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KASNEB
CHEA PART LI SECTION G

OF-3g I1L3 T

Answer ALL questions. Marke allseated (o enel question ure shown al the'end of the question. Show ALL youwr workings.

Time Allowed: 3 hours.

DUESTION ONE

(&) Lo vefation 1o maortgage backed scourities:
(i) Differentiate betwe en “contraction risk™ and “extension risk™, {2 marks)
(ii) Discuss theee factors that could affest prepayiment behaviou {3 marks)
. 3 - - v e - . s
(L] Summarise three advantages of empirienl duration approach in financial analysis, {3 marls)
{e) Maomi Mburg is the investment advisor for 7 large company’s defined benefit pension plan, The currcal asser
allocation of the plan is 63% domestic equities and 35% domes ic Nsed income. The pian uses an asset anly
investnent approach and (= overssen by n risk-averse hoard, The numerical risk aversion fevel Tor the beard s
sstimnted ro be equal 10 6 on ¢ scale of | to 8, where § represents (he aighest degree of risk avession.
Macnd Mbury advises the board on diversifieation benefits and provides the expecred returng and standard deviations
of two global portiolios as presented below:
Fortfolio rish-return profiles
Portlolio Expecled refurn Standard deviation
A 6.5% 10.0%
i} 7.5% 13.5%
Some members of the boasd believe (hat portfolie selection should foeus on maximising expected ulility but cihers
hold an opinicn that shortfail risk is more important.
The boned uses Roy’s safety-Tist eriterion as 1 measure of shortfall risk and has specified & minimum return threshold
of % The risk-fres rate is assumad to be 2%, )
Required:
(1) The portiolio that the baard should seleet based on expected vtility npproach. (3 marks)
{ii} The portfolio that the board should scleet based on Roy's safery-first criterion, {3 marks)
(4 Digeuss three challenges faced by investers in measuring the risk-adjusted pecformance of a privaze equity Tund.

(fmarks)
(Tutal: 20 smunrks)

QUESTION TWO

3 12,000
4 15.006
4 {sale of property) 120,000

The investment requires an initial oullay of Sh. 106,750,000,

The internal rate of refurn on equily investment is partitioned based on ensh flow from operations and cash flow from
sales,

The cost of capital 15 12%.

Required:

The propartion of the intemal rate of relury hat is represented by the eash fow fom operations and cnsh flow from

sale of property. (3 marks)
(Total: 20 marks)

QUESTION THREE
4 (a) Argue three cages against the use of net asset value (NAY) approach 1o valye privite equity funds, {6 marks)

b} Fiduciary .[n_\wslmunt Fun_d (FIT} is & private equity fund that (s six years old, The fund is oneoing, Investors invested
S 00 million and received a distribution of funds of Sh.75 million at the end of vear 5 and a 5h.30 million
distribution at the end of year £, The nef asset value (NAV) af the finm at the end of year 6 is estimated 1o 2e Sh.250
:ml!lan. As the [nvestment analyst at FIF, you are expecied 1o present the performance of the equily find using
different performance measures 1o the investors.
Required:
Using the information provided above, caleulate the following equity fund perfurmance measyres interpreting each of
the caleulated performarice measure 10 the investors:
(i} Tatal value paid in (TVPI) ratic, t} marks)
{ity Distribution to paid in (DPI) ratio. (3 marks)
(iiiy Residual value to paid in (RYFI) ratio, ; 13 marks)

{w) Michael Papis is the chief investment officer of his country’s retirement fund. The fund has always used ouiside

advisers [or the real estate allocation, and this information is clearly preseated in all fund communications.

ThDITIEI.‘G Neale, a reconised sell-side research analyst and Michael Papis's business sehool classmate, recently left the
invesiment bank he worked for 1o start his own ssset management firm; Accessible Asser Managzers (AAM),

Thamas Mgale is trying o build his assets-under management and conlacts Michaal Papis about gaining some of the
retirement fund's atlocation. In the previeus few years, the performance of the retirement fund’s rea! estate

. investments was In Hne with the fund's benchmark but was not extraordinary Michae) Papis decides to heip out his
old friend and also to seek better recurns by moving the real esiate alloeatisn to AAM,

The only npiice of the change in adviser appears in (he next annual report in the listing of assosinted advisers.

() Discuss five types of credit echancaments availables for commercial momage-hacked securitiss. (18 marks)
. Required: v
(b} Silver Bank has a title to n five bedroomed house situatzd on 8 one acre pisce of tand in an upmarket estate in your Bused on the infornation provided sbave, comment on whether Michael Papis violed any standard of nrofessional
country. The bank acquired the praperty al an auction for the |oan balunce awed by 2 previous cwner The bank has ' conduct as An investment professional. i . : (5 marks)
indicaisd thet the asking price For the property is 8h. 150 million, AM Led, Is considering the purchase of this property. el o (Total: 20 marks)
An estimate of the costs assceialed with the peguisition and expenses of owning the property for one year is #s QI"E'M 10 F_OL'"‘ oo ST g -
£l (2) Cxplain the fellowing methods of call protection far the commeseial morigage-backed securilies (CAIBS) at the Joan-
Sh.4million™ ek ' o
Acguisition fess 3 i
Renovation costs |8 &l Prepayisient lock out. {2 marks)
Selling costs 5 T - 3
AM Lid. acquires the property through a loan of Sh.150 r‘.*.illialn snel wants to achieve a 20% return {ar.!.alal rote. (il Defeasance. (2 marks)
campousded menthly) on its investments dusiag this one year period, . ‘
. Ciii} Prepayment penalty points. 12 mirks)
Reguired: ? : :
T'|‘.E!§:H]I:g:}iice for the preperty by AM Lid, (v} Yield mainenence charges, 12 marks)
{e) A resl estate investnent has the following pattern of expected relurns: {bY F‘I"!\l:t_;ls.Or_-yan;‘o ;s{l'cv!e\\lfing L'Ei‘_'iDIIS‘InD!‘{!_\ a-bacled sccl;ri{Iius {MBS)and 1= interested (it the calzulation of single
: ]I!-Jhl.l[}' n.mrlnmy (ShM) rates, He inends o use the Public Securities Association [PEA] standard prepayment
— Cash Mows (Sh.4000™) - benehmark.
| 5,000 :
2 10,000




GUESTION THREE )
(2} . denga Lid's bonds have a duration of 5.6 years and a conbexity of 38.2. Tengeneza Lid.'s bonds have a duration of

7.3 years and & convexity of 38.2.
Required:

Determing which bond is exposed 1o mare interest rate risk when the interest rate Increases by 100 basis points,
il
(2 marks)

(h) A company is valued ac Sh. 10,000,000 priorta g capital infusion of $h.4.000,000 by & veniure capital investor.

The post-meney vatuation and the venture capital investor’s praportional ownership. {4 marks) eq &q. ? % 3 [ FT—

Reguired:
(¢F  Kumike fund is a hedge fund with 2 value of Sh.160 millien at the beginning of the year (an allime high). Kumika
funds charges 2% management fes based on assets under management at the beginning of the year and a 20% incentive //
fee with a 5% hard hurdle rate and uses a high water mark, Incentive fees are caloulated on gains net of management
fess. The ending values before fess are: i
Year b 5h.125.75 million.
Year 20 8h.127.40 million. '
Year 3t 85, 138,44 million.

Recuired: {
The total fees and investor's net return for all thres yoars, (14 marls)
) ; (Total: 20 marks)

QUESTION FOUR

{a)  Describe the three broud strategies applicable to hedge funds. {15 marks)

' (b}, Explain the following terms as used in commaditiss:

(ij  Contango. (1 mark) *
{iiy  Back Wardation, (1 mark) ¢
(i) Collateral yield.” (1 mark)
{iv)  Price return, (1 mark)
(v Roll yield. e (1 mark)
QUESTION FIVE Ty Crotalc a8 mat)

() James Adanje, a quantitative malyst dealing with commaodities investments for Alphia investment recently returned from
a seminar, Tn that seminar, Jack Paler, a well publicised quantitative analyst at national brokerage firm, discussed one
of his new models in great detail, and Adanje was intrigued by the new coneepts. He proceeds to test this mode! making
some minor changes but retaining the overall concept, until he produces some very positive results. Adanje guickly
announces 10 his supsrvisors at Alpha Investrment that he has discovered a new model and that clients and prospective
clisnts alike should be informed of this positive finding as ongoing proof of Alpha's continuing innovation and ability to

add value,
Required:
Explain whether Adanjc has violated any ethical peinciples applicsble in the investment and financial anilysis
orofession, {5 marks)-

(k) Asswme the current spot price is Sh.1500 per bag of wheat and the effective monthly imerest rate is 1%. The monthiy
storage cosis for wheat is 8h.40 per bag,

Caleulate the 3-manth fouward price for a bag of whest. (7 marks) 4

(c) A real cstate lender apreed to make a 10% interest-only loan on a property that had‘just been appraised for Sh.1.200,000
as long as the debt serviee coverage ratio is at leact 1.5 and the loan-to-vahue ratio does not excecd 80%.,

Requived: '
The maximum loan amount assuming the praperiy’s net operating income (NOT) is 8h.135,000. (5 marks)

? : {3 marks}

(d)  Distinguish between traditional investing and hedge furd'investing.
3 (Total: 20 marks)




CQUESTION THRULE

{a)  Kirailz Kindika is the chief investment officer of a pension fund which allocates 4 substaniial podion of its assels o
private equity. The existing privaie equity porttolio is made up of large buyour funds, mezzanine funds and a limited
allocation 1o a special situations fund, The pension fund decided to further increase its allocarion o & venture capital.

KASNEB

CIFA PART 111 SECTION 5

| ALTERNATIVE INVESTMENTS ANALYSIS
Reguired:

THURSDAY: 26 November 2015, Time Allowed: 3 hours. In relation to the above statement, summarise four differences between venture capital and buyout investing. {4 marks}

OhETFast

Answer ALL questi Marks ail d to each question are shown at the end of the guestion. Show ALL your workings. 3 thy () Semmarise four classifications of hedge funds. (4 marks)
QUESTION ONE {ii}  Explain three regulatory concems associated with hedge funds. (3 marks)
fa)  Highitght six types of risks associated with infrastiucture as a form of alternative invesiment. {6 marks) 1

‘ (¢} Aninvestment analyst gathered the following data relating to three collateralised mortgage obligation (CMO) tranches:
{b}  Describe three investinent characteristics of stripped morlgage-backed securities, {3 marks) ' .

Spread com parison

{ci  The ultimate gon! for private equity investment is to improve new or under-performing busincsses and exit them at high MNominal Zero volatility Option adjusted
valuations. However, the lime to exit can range from less than six months 10 over 10 years. spread (%) sprend (%) spread (%)
Security X 212 1.67 0.00
Required: : .. , Security ¥ 118 130 027
in relatdon to the gbove staiciment, examine three exit strategies pursued by privale equity portfolio managers. (3 marks) Security 7 1.84 1.46 0.67

Hequired:

W Kipkorir Kipyegon iz an aliemative invesunent manager fur Stanbib Asset Managers (8AM] which deals with:
' Determine the most appropriate sceurity for the imvestment analyst to invest in.

commadities trading, He s currently investigating trading opportunities in the copper masket. The spot priceis Sh.316
and the three-month forward contract price is 8h313. He is contemplating implementing a reverse cash and carry

(3 marks)

A collateralised debt obligation (CDO} is a Sh.200 million structure. The coliateraf is expected to have an initial value

arhitrape 1o profit from the difference between the spot and forward prices. (]

Currently, Kipyzgon can borrow ar lend cash at the rate of 5% and the lease rate for copper is 6%. The borrowing,

lending and |ease rates are ali continuously compounded interest rates,

Hequired:
(i) Dieseribe the two components of the synthetic commodity position in this arbitrage.

(i} Compute Kipyegon's profit on a reverse cash and cerry arbitrage in the copper market.

(2 marks)

(A marks)
(Toral: 20 marks}

of 5h.200 million. The collateral also consists entirely of bonds with 15 years to mnrurlty and a coupon rate egual to
15-yzar ueasm}r bond rate plug 350 basis points.

The senior tranche represents 75% of the strocture and carries a ﬂnatlng coupon rate equat to LIBOR plus 150 basis
points, There is only one $h.20 million mezzanine tranche which carries a fixed coupon equal to the treasury rate at
originatien plus 175 basis points, The manager of the Trust has entered into an interest rate swap under which the Trust

" will pay an pnnual fixed rate equal to the treasury rate plus 125 basis points and receive LIBOR, - The notienal amount

for this swap is Sh.150 million, The 15-year treasury rate is 7.5% at the time of origination for this CDO.

Required:

Calculate the cash flow available to pay the franche. (6 marks)

ou ESTIdN TWO (Totnl: 20 marks)

{a)  Explain the following economic wrms as used in private equty fu';.ag,ﬁm QUESTION FOUR

(Y | (Ciried intsrast (L mark) {a)  Evaluale four ways in which investors could participate in commeodity markats. (4 marks}
(il Ratchet (1 mafky {b)  Discuss four challenges that could be encountersd by investment pmiesmora[s when analysing private equity
' " investments, (4 marks)
G iR Hloak {a) A critical investmenl feature that distinguishes commercial mortgage-backed securities (CMBS) from residential
i led “call
i Mo phal i 1 mr]r‘h{ug&bﬂcl{cu securities (RMBS) is the protection against early prepayments available to investors cal
W M AN profection”. An investor in RVBS is exposed to considerabls prepayment risk since the borrower has the right to repay
(v} Vintage year {1 mark) a loan, in whale or in part, before the scheduled principal repayment date,
" E Reguired: ’
(k)  Assess five ways which drives expansion of real estate |nvc"1mcrﬁ1rus!§|;(§£4llzs)' (3 marks) With reference to the above statement, explain four mechanisms thal offer investors call pr Giectlon at the loan level.
. . (4 marks) |
(€} Aninvestor purchases a 30-year, $h.300,000 level payment fully amortised morigage with a fixed rate of 12%. {di  The genersl partner for a privaie equity fund charges a management fee of 2% and carried interest of 20% using the wtal
¥ gag B
' ; return method. The total committed capital for the fund is Sh.) 50 million, :
Required: 3
The outstanding principal at the end of three months. {3 marks) The following data refates 1o the sbove equity fund:

Year ! Cash flows

{dy  The original founder members of Madonge Ltd. are extremely ootimistic and believe that the firm could be sold for
Capital called down Operating resulis

Sh.400 million in six years, To zchieve this target, they speculate that the firm will require another capital infusion of Distributions

I Sh.40 mitlion in four years time in addition to the Sh.20 million capital investment today. . : Sh. “million” Sh, “million™ Sh. “million”

Given the high risk of the fims, Madonge Lud.'s private equity investors decide thar o discount rae of 40% for the first - 010 50 -10 -
fO‘UI‘ years and 30% for the last two years would be appropriate. The founders of Madonge Ltd. intend to hold five 2011 20 -25 -
million shares, . Wiz 10 25 .

. 2013 20 50 : 20
R ; : ; 4
r}equrr;: — . o~ - . ; ) g 3 2014 10 60 40
f e firm's post money valuation at te first round of financing using the net present value (NPV} venwre capital 2015 10 114q 80

method, {4 marks) o il 0, SRR i
Regnived:

_(ii) The appropriate share prics afler the tirst cound of financing for Madonge Ltd."s fiest round investors. {3 marks)

(Total: 20 marks) J l {8 marks}

Residual value to paid in (RVPI).
. . (Total: 20 marks)




QUESTION FIVE .
{a)

(b)

(&)

e

(

g

)

= o . funds tons (RIFFON) & Jce-lo-adi funds from apera[inns
W 5l foe u tions {P/FFO) and price-to adjusted fun :
AT -2 key benefits of using price-lo-Tunds from opera L | ‘ : Fubi “
::‘PlfdA]L‘Ia]}(elt)i”mej|'(’ip):c": in the \’.’1][135150[::! of real estate investment trusis (REITS) und real estate DpEranng companss

3 marks)
{RECCs).
i ii {3 marks)
Discuss three sources of return for a commodity Rutures position,
Distinguish between the following terms:
" (2 marks)
(0 “Contango” and “hackwardation™,
: i i o (2 marks)
(i) “Market-defensive funds of funds™ and “strategic funds af funds™,

. . o » oblization (CMO
Birian Myanam has recently completed & monte earlo simalation analysis of 2 collateralised Ino;‘tfag.l.:iihrggﬁrikmmni .
lr:t;;;t.-.“yHis analysis includes six cgually weighted paths, with the present value of each calevlated using

discount rates,

The table below illustrates this information;

Present values:

i i At 60 busis Al 70 basis
S 2:.iii::sbsa;:-is;¢1 :r:ints spread points spread
| 7 4 63 68
2 73 70 it
3 68 66 64
1 71 £ 68
5 71 . 75 73
fi 73 73 71

The aclual market price of the CMO tranche being valued is 70.17.

Required: D
T.')erqennme the dranche's option adjusted spread {(OAS)
{1 mark)
(i [Cefine the term “rolling return of a hedge fund™,
- i ive i ths:
fiity  The following information refates to & hedge fund’s returns and the respective index returns for twelve months
Month Hedge tund returns (%) Index returns (%)
-2.40

January 350 oo

February 4.00 e

March -2.00 }.“D

April -2.00 “20

May -1.00 —*: .

June .90 :;(j,

July -Lop ;

August L70 2 EJ' g

Septesnber 2.; ﬂ‘m

Outober 2,.-0 1.'-m

Movember 6.4¢ 6.”0

Decamber <320 2

Hegulred:

; : i Hs (Brarks)
3 2 o fi if the investor’s investment hovizon is ning months. 5
The average rolling return for the hedge fund if the inves! ¥ (Total: 20 marks)

ALTERNATIVE INVESTMENTS ANALYSIS

£ PILOTPAPER
September 2015,

Time Allowed: 3 hours,

Answer ALL questions. Marks sllocated to ench question are shown at the end of the question.

QUESTION ONE
{a)  Consider the following usset backed securily (ABRS) structure;

(k)

{e)

§
i
o,

' ’!‘1‘:mchT o |_ Sh, 1
Senior ranche 200,000,000

|
J
Subcrdinaic tranche A= | 150,000,000
‘ Subordinate tranche B | 70,000,000 !
| Total | 420,000,000

If the assets in the poo are worth Sh.A450,000,000, what is the amount of collateralisation and

y : ; at what amount of josses .
will the senior tranehe investors begin to lose money?

{2 marks)

In the eomext of morgnge bucked sesuritios [MDBS), explain

e five factors that affect prepayments and the types of
prepayment, risls.

(10 marks)

An gppraiser has been asked 1o estimate the value of g warchouse, He has collected the iollowing information:

R

!—. Cumparable Transactions __“‘__I
! Uit of comparison I Subjeet property H 2 i 3

Size in square feer | JUT[EIT __]}TUF ¥

g:; YERTS T 5 : ] |
_ail;xsicaf condition " Average Good Avea'agem Paor

'_ cation ) _J Prime Prime Secondary Prime

le dute months age [ 5 18 2
Sate price ] [ 9000000 | se0000 | 8000000 |

Each adjustfient is based on the unadjusted sales price of the comparable. Properties depreciae st 204 per annurn.

Additional information:

{. Since comparable Mol is fouy
[56.5,000,000 x 2% x 4 years),

2, Condition adjustment: Goed: +5%, average: none: poor:-3%.  Hecause comparable Ne. | is in better condition than

the subject, & downward adjustment of $h.450,000 is made [Sh.9,000.600 x 3%]. Similarly, an upward adjustment

of 8h.450,000 is made [5h.9,000,000 x 5% Similarly, an upward adfustment is made for comparable No.3 1o the
tune of Sh.400,000 [Sh.8 000,000 x 5%4),

Location adjustment: Prime - none, Secondary - 10%.

prime lneation, ne adjustment is made,

4. Qver the past 24 months, sales pricgs have been appreciating at 0.5%
sold six months ago, an upward adjustment of 5h.270,000

years older than the subject, an upward adjustment of Sh.720000 is muade

L

Because both comparable No.1 and the subject are in a
er month. Becouse comparsbls No.l wes

is made [Sh.9,000,000 x 0.5% « 6 maonths], 2

Compute the value of the subject pr

QUESTION TWO
(i)

.
cperfy using the sales comparison ‘appreach. (B mmarks)

- ('I‘mni: 20 marks)

Eaplain four alternative exit strategies in privete cquity and their impact an value, {4 marks)
(B} Twn mrivate equity funds, fund X and fund Y, are being considered by an investor. Financial performanee of private
equity fund X and fund ¥ s shown below:

[ L TundX | " Fandv l
| Gross IRE ) ol e 22.1% } 2.4% {
| Met IRR i 17.6% -0.3% i

Performance quartiie
'l {Distributed to paid-in capital)

* RV (Residual value to paid-in eapital) |

_— 3
i 2

[ TVPI (Total value to patd-in capital 2.95 132

L[v_f_aturitx of tund - 6 years dyems |

Hequired:

(N Intemret and comp

are the financial performance of private equity funds X and v,

{5 marks)
{i)  Describe motivations for hedge fund replication strategias, {6 marks)
(i) Distinguish between alterative investments and traditiona; investinents. {1 mark)

(Total: 20 marlks)

5 -




(e}

QUESTION FIVE

Hequived: 3
[0} The single menthly menality (SM) for month 22, sssuring a (40 Publie Securiies Association (PSAY
standard prepayment benchmark. (4 ntarks}

= - )
(i) The single monthly miovtality {SMM) for month 200 sssuming 2 90 Public Seeurities Associalion {FEA)
{3 marks)

standard prepavment benelmark,

The following table shows collateralised mortgage oblivaticn (CMO] tranches:

Option adjusted Z-spread
sprosd (OAS) in in hasis Effeciive
Tranche basis points points diration EALVEN J0g
] I3 8 3.60 PAMAN D 1R
2z i1 8l 4.90 3 .
1 63 12 325
Required:
(i} The eption enst ol tranche T, tanche 2 and trnche 3.

i)

(2 marks)
(Totals 20 marks)

lustilying your answer, identify the relutively most expensive tranche:

{5 marks)

{a) Discuss five investment risks thar mishe affeer an invesior in the feal estate sector.
(k) Deseriae fve steps that an investor should fellaw when selecti g & private equily fund manager,
e Hydrosoft Limited wishes 1o require » Sh.1,000,000 machine which has o useful life of § years, At the end of (his

time, it residual value is expected 1o be Sh.150,000. The nsset falls into the 3-year property class for depreciation
pirpeses. 1he company can use either lease or debt financing. Lease payments of $h.160,000 at the beginning of each
of the elght years would be recuired,

If debt financing is eansidered, the interest rate would be 10% perennum and the debt payments wauld be due ar the
beginning of each of the 8 years, '

. Thecompany falls undet the 10% bracket of corpornis tax,

Required:
Advise the management of Hydrosoft Limited o the best linancing eption, {18 marks)
- ' (Total: 20 marks)

ASSET MANAGEMENT | e
- : " CSIA PART HI SECTION 3

-_"I'I'II-{I.G;S.Q};L.Y:.:'J.Décembgr 2004, 0K ‘f% / ‘;L

Ansswer ALL questions. Maxks allscated ( each qu

Time .-\lilo\_a_r.ed: 2 honrs.

QUESTION ONE

ny listed on the Asdag Securities Exchange, The_com'pa:;_v intends o set up an employes I

(6 marks)

in the aumber of sovareign wealth fands iﬁ the plobal asset
: ; 4 : (4 marks)

estion are siown at the end of the question. | Show ALL your \;'nrkiﬂgii_ F

(5 marks) =

QUESTION TWO

(a) Adrosofi Limited is company
share pwnership plan (ESOP) m enable its employess own part of ifs ordfhary shares.
‘Reguireil: i ) )
Highlight five particulars ther Adrosaft Limic i i o 3 ?
rs th mited should include in-its ESOP trust deed beft ssenting |
rezulitory authority for approvat. = . L E " o Pm?m.ng(;rn:?ﬂ,ﬂi
{h) Deseribe th‘r'& basic praperties that o valid b : she . . et o
el : enchmark, should possess in orde i clive] i
B e , ark, s d possess in order t function cl"l’e.,t_:yeiy_dur.ng fund -
() : E\-‘g}_uafu [0 factors thai have conlribuied 1o the increase
- management industry. .
d). An assel manaler is assessi

- Reg uirerl :

equity, ._'1_“_ne interest raie on the mongage is 9% payable monthly. The required retern on equity is 12% o

{5 marls)

The market capitalisation rats,
e i {Total: 20 marks)

ne the value of a property which is financed by 55%, 18-year firsl mortgage, and 43% -

. f2)  Deseribe the following types of 1110rfgages in relation to real asset fiiancing:
o '..([). Op[i_on _a:r.'l.juslatile-.; rate mortgagze loan, : (2 murks)
Him 3 . Bubprime mortgage.. ‘ (2 marks)

(b} I-"-’ou ha.lwe be&mémp!oya—d as a Secwrities and investment Analyst by Afromax Asset Managers (AAM). Agnes

B Onyango, a client of AnM, intends 1 rebalance her portfolio so as to include reai estaie investment irusts {RE[Ts) In
the portfolio. She approaches you for professional advice, '
‘Required: . . . 0
Expluin to Agnss Omyange the distint characteristics of the following fypes of REITs:
&} Dedicated REIT. . (2 marks)
(i) Unmbrella panncrshi;}. REIT (UPREIT). = T ' ©w (2marks) .

I {c} The follewing information relates to Uchun{ijre.'_i]_c_stare investment trust (RETT):

i fs

| Current price per share Sh.s0

i tiuwmber of outstanding shares 1,300,000

; Sh. “000"

f et income 3375

: Depreciation 1) L 3,000

' Property sale profits - 2,500
Recurring capirat expenditure (eap re) 1,575

= Regairéa: :
i 6} Funds from operations (FFO}. - {2 marks) -
@) Adhsted funds from operations (AFFO), (2 maris)

I . ; 4 . o }
(i) Adjusted funds from operations (AFFO) yield. _ {2 maiks)

! (&) An asser manager uses Monte Carlo simulation mode! with five representative paths 1 value tmanche M in-a
collateralised mortgage obligation (CMO) deal. The present vaiwe for ‘each representative path’'is based on
discounting the cash flows on an interest rate path plus @ spread. For the different spreads used, the present value QF

. __gach representative path is shown below: iy o0 i
Representative 1t value (Sh. Milkion] if the spread used is: . . ) ____;_I
Path ) basis paints | 6 busis points |~ 70 basis points |75 basis points |
1 6& i ‘ 70 72 | 5O
2 70 : a8 20 - 72 L
> 3 83 73 75 63 u .
’ 4 88 80 83 15" _
%2 RS LTy i 70 &i i
Required: - . o
Option adjusted spread (OAS) given that the market price for tranche M is 8176 million. {6 marks)
: ! 4 . (Total: 20 marks}
QUESTION THREE :
(2) (i Assel managers view pension pians as an itportant class of institutional investors
As an assel mariager, explain three difforences between & “defined contribution pension plan” and 2 “definsd
_benefil pension plan™ @ your client, o : 4l m‘ark_s}
D) Distinguish betwsen an “endownment fund” and & “foundation” as used in management of instim’[_aianal_ X
5 investor portfolios, S ¢ 3 {4 marks]
(bJ “Ihe consruction of Savanna Mall hes recenily been compleied. The mall contains 8 store units. Bach of these units

-

i)

has an yearly lease payment of $h.70,000. Based of comparable properties, 8 vacancy foss rae of 8% is expecied
over the life of the lease. Operating expenses are 20% of effective gross income. £ 0 s

Required: . g
) Sevanna Mal’s et operating income (NOI) for year 1. (4 marks)
An a.pbmpriaic disceunt rate for Savanna Mall assuming a liguidity premium of 2%, yisk premiuzn of 5%,
-and arisk free rate of 324, ; : 2 marks_‘;



(c}

-QUESTION FIVE

@

()]

(&

(i) ' The value of Savanna Mall using the income approach. Assume a net operating income (NOT) grou;t‘]: rateko;'
marks

ki year 2 net selling proceeds of ShAQ million in year 2.

# ﬁ-:]r o - {Total: 20 marks)

QUESTION FOUR 7 s
{a) Evaluate five benefits that might accrue to an investor who hoids a poal of funds that are managed by a pmfe'zssmnalik ;
: fund manager. . (10 m.a.r 3]
; {b) Discuss two requirements that must be met by an asset manager when presenting ssset performanee reparts to both
- current and potential ¢lients. i (4 marks)

The following information relates to a collaterulised morigage obligation (CMO) structure backed by a 10% collateral: |

Tranche Par value Coupon rate (%)
(Sh. *00m)
M : 400,000 9.00
N 300,000 850
¢] 400,000 800 |
P 300,000 825 ;
500,000 T.50 I

~ The manager of this coilateralised mortgage ablization (CMO) wants to create a notional interest-only tranche with a
coupon rate of 10%, 21 .

Regquired:

The notional amount for this iaterest-only tranche, - ' . (6 marks)
(Total; 20 marks)

Highlight five circumstances under which a member of a professional invesiment institute such as the Institute of
Certified Investment and Financiai Analysts (ICIFA) could be guilty of professional misconduct, : (3 marks)
John Omurande is an asset manager of a private equity fund whose performance data is provided below:

o s Amount in million shillings
Cummulative paid in d 10

Cummulative distributions ' _12
Net agset valye Y 3
Required; I ) k.
Compute the following comman private equity fund performance measures:
[ Residual value to paid in (RVPI), e T s - (2 marks)
{i)  Distributed to paid in (DPI), . ' C @ marks)
. Bk T et és"‘""“zm
(iii)  Toral value to paid in (TVPI), " ; C(2marks) et e

An asset manager gathers the following information i"e}u!ing {o an asset-hacked security (ABS) for month 300

Subordinate interest : 25%.

Shifting interest percentage 85%. EF oy 3

Regular scheduled principal payment 8h.3,000,000. b ) '
Frepayment C o Sh1200000 ¢ - KR e B
Required: . ¢

(i} ‘Senior prepayment percentage forthe month. . (3 marks)

(i) The amount of the reguler scheduled principal payment disteibured fo the semior class, (3 marks) :

(1ii) The amount of prepayment distributed to the subordinara class, ; {3 marks)

(Total: 20 marks) E; .
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QULSTION ONE : T

(a) f.naiysc five pnncipal risks that mig‘nt affect m\fcsrment inthe real eshm sector, ot ) {3 marks)
(b I  Examiug the 'fallnwmg spread r_neasures as wsed in v_alrmti{m of asser-backed and mm’tgagc—_h'ackqd secufﬁies:

(il  Neminal spreaﬁ. - . L B iR g : {Limark)

) Zaevoldlip/spread. e _ L )

(i) Option sdjustad spread (DAS). _ T i e B (1 mark)

(c) lohn Matiéngi a Certified Securities and Investment Aﬁalyst [ésm) wm*.kin;, as portfolio manager at Mbora

Invesiment Bank is intending to diversify the portfolio he manages through an erestment in an office building res|
estats mvestment frust (REIT).

Inforntation regarding the selected REIT is as follows:’

Estimated 12 months cash net operating income (NOlj
Acwal funds from operations (FFO) far the year 201
Caesh andcash cquivalelm

_ ; 13 marks) .
{1v) '1"he va}ue ofthe REIT share using L‘ie. d:'s-cwnted cash ﬂ:'uw 1ppmach_ T o (3 marks) ;
o, v 1 I _ (Total: 20 marks)
QUESTION TWO : O '
{a) Discuss three factore {ml investors showld const der when seJEcbn‘r and ewluatm;, 7 firnd managers, " (6 marks) :
(b} Analyse thres broad m!e:gmes of hedge fund risls. ! ; X (6 marks) |
(e}  The fmlkmmg !nfarmauon rclates 10 a mcr“tgaue pool of Maendzleo Trust TR
Outstanding Meorigage Monthe
Morigage Loan mortgage loan rate remaining to
bulanee B ) I matarity
(Sh. “006™y
| 860000 - 1.0 - 200
0 740000 - .80, : 120
g 00,000 ¢ 5.0 130
4 400,000 P ! o ss

‘Expected annual dividend to be paid in the’ year 2014

. 1. Theshares outstanding totalied 16 mitlion shares.,

ch‘l and other liabilities
Mon-cash rents
Recurring meintenanee - type capital expenditures

Additionai infcrmatmn

2, The dividend growth rate in the years 2015 md 2016 is &xpected to be 2% per annum and from 2017 :nto
perpetuity to be 1% per annum. } . !

‘3. The assumed cap rate js 8%, # : 5
4, The office subsector average pnce-‘{»funds fiom operations (PfT FO) ratio is 10 times while that of

_price-te-average funds from operations (FAAEFO) is 14 times,

5. - lohn Matlang1 5 applicable cost of aqmry capital is 9% while the usk fiee tate f32%

Requ:re{] 1
) The valug of the REIT share using the net asset value (NAV } 'lpproazch ) {3 macks)

(i The vaiue of the REIT share using the pmc—to-ﬁmds from sperations (P/FFO) ratio approach. (€] msrké)

(i} The value of rhe REIT share using the pru;c -to-average funds from uperahons (PIAH‘U} rﬂuo upproach

h]
Total

Required: o y
() The wefghtad average coupon (WAC) rate for the Maendeleo Trus‘r mortgage poal. o {4 marks)

(i) The weighted average matutity (W:Wi) for the Mae_m(laics Trust morigage pool. {4 marks) .
£ ; oy (Total: 20 marks)

QUESTION THREE

(=)

(6)

{e)

Summarise four advantages of investing i real estate thmugh pubhcly mded securmas cnmpm'ed 10 direct mues!ment
in physica) reat ﬁwfe (4 marks)

A defined c.outr]butlon ~pension scheme was set up 12 manths 2g0.. As the scheme’s investment arialys, you arg in
charge of preparation und pressntation of members annoal benefit statements. You have been invited at the pension
schema’s smnuai genaral meeting to give a prassptation on the analysm of" the members arnual bencﬁl ﬂatements

Reguired:
(0 Explain four reasans why pension schemes issue annual bsnet' (s statenents wthau- members. [4 mar’rsj

(i) Highlight four contents of the annual beneﬁ: statements for members of a defined coniribution pension
adwmu . {4 marks)
The following infarmation relates 1o iniernational pmtfcilim investment pef&almance measarement:
Performance and atéribution data. *

Annualised returas far five years ended 31 Décember, 2013,

Tulernational Total Country/Security Curréney
Manager/Index return (%s) Selection % ) return (%)
Manager X 5.0 : 207 v 8.0
Managar ¥ =20 4 -1.0 £ -1.0
EAFE Index -5.0 02 [ —5.2

Additional information:

1., It is assumed that the data in the above table for mnapr X and managcr 3 accurarc]y mﬁect their investment
skilfs,

2. Buoth manager. X and manager Y a-:tlvel_v manage cUTBNCy exposure, |

*3. EAFE is an index oftenly used =5 a benchmark for pr:rfonnance when eva]uahng investor’s mterrmnanﬂl

Il]VESil]’Iﬁ&][S

' .l.leqmred

) Briefly discuss one strength and one weakness of manaqer X and manager Y, 4 ﬁ'narks) :

(i) Recommend and justify a strategy for each manager that would enable the fund to take advantape of the '

strength of 1hc twa managers, while mm;mlsmo their waakucss&q {4 marks)
y . . (Total: 20 marks)

QUESTION FOUR

(2}
o]

{e)

Explain five factors thﬂtcnutd influence the investment strategy ofa collective § :nveslmen! vehlcie (5 marks)
Ann Shakombo has a retirement savings policy of Sh.15 million which mdtures shor‘ly an her 60"‘ bmhday ar whlch

" time she will have to choose one of the follawing three options:

Option 1:  To be paid a hump sum af $h.15 million, -
Option 2: To be earning an annual fixed single life income of Sh.1 million (leve! pension),
Option3: m be ea'mmg an annual f‘ xed sang[e life income uf Sh, ?UD 00T setip, be increasing a.nnua!ly i fine with

that she sheuld cu:msidcrl
{5 marks)

Requiréd:
As an ivesiment analyst spectatising in pens;ans advise Arm Shakombao on five issues

before making her decision.

A collateralised debt obligation (CDO) hes'a Sh.200 mi Ih on structure, with the collateral having an fnitial valus o
$h.200 million. The collateral consists entirely of bonds with 15 years 1o man.u'hy and a coupon rate equal to the
}3-year treasury rate plus 350 basiz points. .

‘The senior tranche represenis Sh. 150 million (75% of the 'strum:ure) and carries s ﬁnaﬁng wupon rate x.c:uai Lj
142-day freasury bill rate phes 150 basis poius. There is one 5h.20 million mezzanine tranche, and it carrfes a fixed
coupon equal fo the | 5-year treasury rale at origination plus 175 basis points, -

The manager of the trust has entered dnfo an interest rate swap wder which the trust wili pay an annual fived coupin
equal to the 15-year reasury rate plus 125 basis paints a':a receive 182-day weasury bill rate.

The notlona] amount for this awap is Sh.150 millien.
The {5-year treasury rate i5 7.3% at the time of origination for this collateralised debt abligation (CDO).

The 182-day treasury bill rate is csnmated at 6.?5% -

Required: :
{1 Interest recewed by the collateralised debt obligatian {f‘DO} from the cnllalf.rr:[ and swap counler parzy -
- [5 marks)




iy The tetal mterest paid by the collateralised debl abligation (CDO) to the seniar tranche, mezzanine lranchs
and the swap counter party. i {3 marks)
(i) The net cash flow to the equity tranche, {2 marks)

{Total: 20 marks)

QUESTION FIVE :
{2) In the recent past, credit card recalvable-backed securities heve gained popularity ameng banks, retailers, wavel and

entzrainment companies and other credit card issuers,

Required:

Briefly discuss the following amortisation payment sbucwres with reference to credil card receivablie-backed
ST ] S s e e e S e e Ry e 4

(i) Passthrough strocture, ; (2 marks)

(iD) Controlled-armotisalion structure. ; (2 marks)

[iif) Eollet-payment structure, {2 marlks)
a3} Examine four factors thet might contribute to ethical lapses in the financial sarvices industry {4 marks)
(e} Triplet Towers is a 200,000 square Foot high rise apartment building located at Sowh D estate in Akuja town.

The building hus an effective age of 10 years, Its ceanomic life is estimated ar 40 years, 1t is beliaved that the
building has a structural problem that is not feasible to repair.  The building also needs 2 new roof a1 a cost of
Sh.1,000,000. 1f construeied, the new roof is expected to increase the value of the building by Sh 1,300,000, The
sitting rooms in each apariment are too small, As a result of this poor planiing, rents are Sh.400,000 peT NI,
which fs relatively lowsr than the competing properties, :

Initially, Triplet Towers was located near a beautiful municipal retreational park, but six yesrs ago, the Akuja
municipality converted the municipal park to a sewerage reatiment plant. This has brought a negative impact on rents
estimated at Sh.600,000 per year. )

[ue to recent construction of competing properties, vacancy rates have increased significantly resulting into a loss of
apn estimated value of Sh.1,200,000.

The cost to replace Tripler Towers is esiimated at Sh.400 per square foot plus builder profit of §h.5,000,000.

The market value pf the land iv estimated at Sh.20,000,000. T
" AT apprapriate cap rate (5 8%, a e SRR i

Required: : : !
The value of Triplet Towers using the cost approach. CLIG marks)

(Total: 20 marks)

ASSET MANAGEMENT
h CS1A PART IISECTION 5

THURS S \
SDAY: 5 December 3013, 6 T_) z ’{,.P?_ﬁ_j ff‘F Time Aliowed: 3 hows.

Answer ALL questions, Marks allocated to each question are shown at the end of the question. Show ALL vour workings,

QUESTION ONE
(a) The Institute of Certified Secuwities and Investment Analysts (ICS1A) is a professionsl association of investmint

analysts, Upon the completion of the Certified Securiifes and Inv: 3 inati i
t tifie estment Analysts (OS] h L
gruduate becomes eligible for membership of 10514, FEE R

Required:
in relation to the above statement, describe three functions of the Institme of Certified Securities and Investm.nt
Analysts (ICSIA), ' (e
() (i) Explain the eanstant amoriisation mtgage (CAM) procedure, : (3 marks)
5
(i} E\falua’te one merit and one demerit of using constant amortisation mortgage (CAM) procedure whag
analysing mortgage repayment, (4 marks)

(iii} And:a_:my Milclwngi, an investor in the real estate seclor aequired 2 USD 60,000 mortzage lrom Rwamkii
Holding Finance Lid. repavable within 30 years 1o finance constuetion of a commercial building. The

mmartgage atiracts 4 [2% mterest per annum and the payments consisting of bot EI
E f h int st and am 2t AT
E i ortisation #7

Required:
A constant payment mortgage (CPM) schedule for the first six months. (7 marks)
(Total: 20 markss

QUESTION TWO

{a)

(b}

OUES

T'_h-: investment industry in your country has been under increasing criticism, This is due to the investors being
disadvantaged by the contlict of interest as a result of investment fransactions for clients not being prioritised,
Required:
Discuss five basic procedures that might be adopted by the market regulator in your country to address the conflicting
areas created by personal investing. (10 marks)
Health Secvice is a foundation created with the purpose of supparting Alloare Hospital which has a spending budget of
Sht1] million. Expenses incurved by Health Service foundation average 0.45% of total assets. The foundation w-ll
also require Sh.40 million to acquire a new facility at the hospital. The foundation's portfolio has a market value o
$1.2,000 million.
The foundation’s board of directors has designated a portion of the portfolio to serve as a ressrve of approximately
15% of its spending budget for the hospital to ensure that the foundation’s annual spending goals are met.
The boerd of directors is aware of the market risk-return frade off and is willing ta accepl the risk necessary to support
the foundation’s long term growth, with respect to return on investable assets. The board has agreed that a shortfzll
risk limit defined as exp eeled total refurn minus two standard deviations of -14% in any one year is acceprable.
A cansultant has developed five alternative portfolios as shown below:
.Alternative porifolio asset allocation (%)
Asset class A B C D E
Cash equivalents 1 2 4 3 [
Intermedizte term bonds 20 23 10 15 1§
High yield corporate bonds 18 25 20 a5 25
Equities-domestic ‘ 35 a5 20 30 24
. Equities-non domestic 13 5 25 15 15
Real estate investment trust 15 W, 21. 1z .. _15
Totsl 10 190 10 10 10
Portfolio measures Alternative portfolios
A B C n E :
Expected annual total return (%) §.42 7.5% 877 8.13 7.50
Expected standard deviation (%) 11,18 1031 LS54 1085 1028
Required: : ; . ’
Recommend the portfolio with the most appropriate strategic asset allocation for Health Service foandanor_. Show
your cormpulations. =t —_—— S e (13 narks}
(Total: 20 marks)
TION THREE
Analyse four challenges in the application of the asset-based valuation model in 2 company. (£ marks)

A manager is considering a collateralised mortgage obligation (CMO) stracture.  The struciure has three tranches
namely, A, B and C with a monthly coupon rate paid to each tranche.

Tranche C is an accrual tranche that accrues coupon interest monghly.

Tranche Coupon rate (%) Par amount outstanding
Sh.“million™

A [ ]
B 7 : B
c 8 30
Based on some prepayment rate, the projected principal payment for the next 3 months is provided below:
Month Scheduled principal repayment

plus prepayment

Sh.“’uﬂﬂ”
i 520
2 510
3 494
4 458
5 448
Required:

{0} The cash flow for tranche A. (€ marks})
(ti) Average life for tranche A, = mark.*.;)




Consider u collateralised debt obligation (CDO) that has & Sh.250 million swucture. The coilateral consists of honds

c) ; Ay :

: that mature in 7 years, and the coupon rate for these bonds is the 7-year treasury rate plus 500 h_as:s points. T]‘,elscnler
tranche comprises 70% of the structure and has a tloating coupon treasury bill rate plus 50 basis points, Thers is oni_)r
one junior tranche that comprises 20% of the structurs and has a fixed coupon of 7-year {reasury rate plus 330 basis
points.

The 7-year treasury rate is 6% and the treasury bill rate is currently 7.5%. There are no defaults in the un.lieﬂying
collateral pool, :
ignore the collateral manager’s fees and any other expenses.
Required:
The rate of return eamed by the equity tranche in percenlage. {7 marks)
QUE:ST;IOII\I R {Total: 20 marks)
. 1 E
{a) In relation 1o collective investment schemes (CIS}, describe the two forms of pricing used to determine the net asset
value (NAV) price. {4 marks)
(b} Discuss three circumstances that might cause an upward bias in the calculation of the Sharpe ratio. 6 markg)
(e} Explain the roles played by five interested parties in a defined benefit pension plan, {10 mar-:s}
(Total: 20 maris)
QUESTTON FIVE
(a3 0] Explain thres reasons that might justify the existence af secondary mortgage markets, {6 marf s)
{ii) Define the term “mortgage backed security” as used in secondary mortgage markers, ) {1 mak)
(i) Describe two types of morigage backed securities. {4 marl:s)
(b} Kimunye Ltd. is considering adding the following three ropertics 1o the real eswate portfolio:
g P P

Property A:

Property A has an estimated after tax cash flow shown below and is available for Sh.6.1 Y millien. [nvestment in he
property would he 100% equity. The firm has an effective margin (ax raic of 30%.

Estimated afler tax cash flows

Year Sh. “million” S
1 0.26 “
2 0.44 {) )ﬁj ]}'
3 0.74 6 BJE q W
4 0.91 ' Al
5 6.1l i
Property B: Analysis of property B includes an assessment of its eventual sale,’ _ A

Informetion regarding the sale of property B ure us follows:

Sales price $h.5,000,000
Selling expenses 10% of sales price
Purchuse price Sh.3.200,000
Accumulated depreciation Sh.600,000

Mertgage balance outsianding 551,000,000
Murginal tax rate is at 0%

Property C: The acquisition cost of property C is Sh.2.3 million, If property C is purchased, 55% of tha
purchase prica will be borrowed at 9.0% through an amortising mortgage with a 25 vear term end
monthly compounding.. The remaining funds will come from an equity investment, The firra's
required rate of return for equity investment in properties is 14.5%. i

Required: '
(1} The afier tax return for property A. {3 marks)
{11} The after tax equity reversion fur property B. ' (3 marks;
(i) Using the band of investment method, determine the capitalication rate for property C, (3 marks}

(Total: 20 mar’s}
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QUESTION ONE

(a) Analyse three methods of restruciuring o maorigage loan. {6 marks)

b} Talex Limited Is considering lo constct a new office building that [s expected fo produce ner operating eome

- (MO of Sh.50 million during the yewr 2014, The building is expected to have an economic life of 75 vears, During -

this period, the income s expected to incrcase by an averase of 3 per cent per year. A 13 per cent investment yield
would be necessary 1o attract an investor in the building and the incoe from [huhm!mnu will continue forever,
Required:

{i} The estimated value of the properly after 5 years,

Adiy The amount the investor is experted 10 reeeive when the property is sold, if the mvumr mtends to purchase
she property in (b){i) above with ithe expectation of selling it after a S-year holding periad. {2 marks)

{c] Latex Development Company has three plots of land to sell; Ndogo, Wastani and Kubwa whose price per plot is
Sh. 1,900,000, 5h.4,560,000 and Sh.4, 750,080 respectively, These plats are sold on a loan which will he repaid ar

120% of the rae &l which revenue will be received. The total loan amount equals ShA49.105.200 and the gross

project value is Sh.684.000,000, e

Required:
The relasse price for cach type of plot. (8 marls)

(Total: 20 marks)

GUESTION TWO

faj  Explain two clements of the retrn for 1h<. Juror note holders in & synthetic collaieralised debr oblization (C00)
siucture, S T (4 marks)

(b} Argue the case for issuing synthetic balance sheet collateralised debr obligation (CDQ) by banks, {4 marks)

e} Anissuer s considering the following twe collateralised n;\:rl@ge obligation [CMOD) structures

Strueture 1

T;-nnch-: Parameunt  Coupon rate
Sh.*million™ Y
A 150 i) aﬁ_,:)*‘w
[ 100 6.?3_:,3-__ ;
c 200 7.25
G
D |30 715 SE :
E 100 800 s
“F ©500 8507
e

Tranches A fo £ arz a sequence of planned amertisation class (PAC) and tranche Fis the supptin
Structure 11

'l'r'anchi,- Bap amount Cr:-urmn rate
St million™ ]
A 130 6,50
B 100 675
8 y 200 325
o A 150 775
E 100 8.00
sibard aBy | taaiET 00w 825
G 300 -'.J"

Tranches A to B are 4 sequence of planned amorisanon class (PAC), traiche T (3.2 PAC 1l and tranche T is a support
tranche withour a schedule,

Reqmrul : o et ® o
{0 I strycture {1, franche G i ereated from tranché ¥ w strueture | Compute the caupon rate for (mnche [a
assuming that rhc cambined coupon rate for wanche Fand trancha £ i chmtien 1 e 0 gt e 1

{4 marks)

{in Explain whether there is an effect an the value and average life of ranches A to B by including the PAT II it
strietire 11, ) 5 {3 marks)

- Discuss the differenee in the average life variability of tranchie G in structure II and wanche F in structure 1,
3 {3 marks)

{'Fotal: 20 marks)

QUESTION THREE .« ... ' - _
fa}. . Appraise six nethods used 1o vahie private couity portfolio companies. (6 marles)
(b3 A buyout transaction is valued at St Ibillion and has the following characleristics:
E Exit oceuss in five years al a projected muitipie of 1.80 of the firm’s initial cost. 1t is financed by debt and
i _ equity in the proportion of 60% and 40%4 respectively.
(X et The SheA00 million equity investment 1s composed oft

s S50 million in preference shares held by the private equity fin,
»  Sh.80 million in equity held by the private equityTim.
¢ Sh.10 million in equity held by management squily participation.

3 Preferenge shares are ghmanticed & 14% compound annual return payable at exit.

4 The equity of the private equity firem is promised 80% of the firm's residual value at exit after ereditors and

! preférnce shares are paid. Managemen equity receives the other 10% residual value,

i By exit, the firm will have paid Urf‘Ih 350 millien of the initial 8h.600 million in debt using operating cash

fiow,

Required:

“The payoft multiple for the equity claimants (private equity), (& marks)
{c) A client whe consults you on investment udvice, has recently inherited Sh.1,200,000 and has above average rislk

talerance (risk aversion of 2. The client intends to carn returns that will outpace inflation in the long rerm. The client
expectzto fiquidile Sh.60,00¢ to cater for the down payment of an asset purchase. 1f the need arises, the client statas
that it is importard to be able Lo whe outihe $h.60,000 without invading the initial capital-of $i.1,200,000,

Below are strategic asset aliocation choices for the client.

- Investor’s foreeasl

Standard-deviation

Asset Cxpected return
allocation of return
Y ' b
A 3] 20
B 7 i
“C 525 g
equired: * g A e
(i) Based on risk adjusted expected returns and Roy's safery fisst eriterion, recammend o strategic asse
; allocation for the client, (5 ma
i (ii) Determine the shortfall level, siven the ¢lient’s desire not to invade the Sh. 1,200,000 prineipal, (1 mack) .
) ,"'; i (Total: 20 mar*s)
¥ QUESTION FOUR ;
ey {i) Explain the term “dark pool trading svstem®™, 2 marks)
(ii} Describe two disadvantages of “dark pool trading system™, (2 marks)
RLY Beluw is the performance of wwo asset mandgers who are not tesponsibie for cash inllows-owflows o 1 portlialio,
- 2 i )
Partfolio A
Sh.eogom
Beginning vilue 2000 - iy
Ending value year | 2406, I
Withdrawn atend of year —= 800 ~ Reci .
Gnding valie year2 .. ., 1,440 ; i S
5 Portfolio B
LD Sh 0007 .
Beginning value T P S T S
Fnding value year | 1.200 d
Added at end of year | 00,



Endig valweyEwz— 1,980

—T

The annualised internal rate of return of portfolio A and B is 7.1870% and -0.6682% respeclively.

Reguired:

() Argue the case against the use of internal rate of return (IRR) in evaluation of pel‘farmapce ol an assa
EnAger. ] : : (2 marks)
- (i Compare the performance of the two asset IATIAZErS. {4 marks)
{c) A client has.picked thuee asset m.anagcrs ‘who witl manage against the I‘nlf_nfvingbcnchmarks:
Al: Global equity index (passive).
-AZ: Global equily index (active), o
A3t Global government bond index (passwe)..

The expected sctive returns, tracking errors and the management fecs of all managers are provided below:

Tracking . Managemént
error (Y4)  fees (%)

Manager-  Expected active
return before

. fees ()
Al 0.03 0.20 o 0os
A2 3.50 500 0,40
A3 {100 0.10 0.03

The stratcgiﬁ asset allocation of the fund is 50% equitics and 50% bonds. The olient secks to achieve an expected
- aclive return of 1.5% alter cost. :

Required: : ! ;
Thg perceniage of the overall portfolio that the cliem will allocate to the three asset managers to achieve ”(]i dcsire;.i
mAaris
results. | e o ; B s - i
(d) A tranche of 2 marteage backed security has been split o create a floawer with & principal of 8h,66,666,667 and an
' inversc fleater of Sh.33,333,333. The tranche has n coupon rate of 8%, :

4 Ruqui&d:

{iy The cap rate for the inverse floater, when the coupon rate for the floater is 182 day Treasury bill plus. 1%.
: ¥ . ; 4 (4 marks)
(i) “he ¢ap rate for the foater when the coupon rare for the floater is 182 day Teeastry bill plus 1% and a floor
: ‘ ' : . e B (2 marks)

-~ 18 imposed on the inverse floater of zero.

T

wiTotil: 20 marks)
S, .

QUESTION FIVE

1) . XYZ mutia! fund has the following asscts and liabilities:
Sh. 000"
Stock {at eurrent market value) : 20,000 ?'ifiﬁ?t«m?ff B
Bonds {at current market value) 180,000 - |
Cash 500 —
Total value of assets 30,5002
Liabilities __[300)
Net wortdi ' 30,200
i » qa— g

. The number of shares outstanding is 40 mittian. In the following year, the value of the stock portfolio held by [hg fund

vises by 10% and the value of the bond portfolio falls by 2%.

Required: i ) e
i) Netassed vatues (NA V) befare a_ud after the rise. (5 marks)
A\

{iiy I'he yielt on an investment in the mutual fund, (2. marks)

" e -
{iii) Identify the different foc struciures of investment funds. (3 marks)

(b Financial institutions around the world have undergone a series of Nnancial crises in the recent years. Exar; ine i:e
examples of such financial crises. e {5 marks)

ighli 2 factd ight i ion funds becoming involved: in rea! estate as equity

(c) Highlight [ive facters that might lead to rehuctance of pensio g . J

investors, '

fTakal I wmarie
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Amaw;ur ALL guesiions. Marks alfocated to each question are shown at the end of the question. Show ALL Your workings. -

CSIA PART Fif SECTION §

THURSDAY: 6 December 2012, Time Allowed: 3 hours,

UESTION ONE
{a) Explain six major ranges of collateralised morigage obligations (CMO) structures, (12 marks)
(b} James Shilungu has $h.800,000 in cash and 5h.1.2 million in a real estate index fund. He has appointed you to

discuss the management of his a35ets. Al the mecting with James, you note that he is an aggressive investor but does
not want the value of his portfolic o fall below Sh 1 million.  You determine that # consiant proportion pontolio
Insurance with a 130 per cent cushion is appropriate for James Shilungu, During the next quarier, the property rarket
experiences a baom resulting in ey sight Per cent quanerty retura on the real estate index fund. The return an cash
investments is zero for the quarter,

Required; ' :
Determine the size of the rebatancing trade appropriate for James Shilungu at the end of the Guarter, (8 marks)’
(Total: 20 maris)

QUESTION TWO - '

(a)  -Explain the effects of the following characteristics of a hedge fund index:
(il Survivership hias. I 2 miarks]
(i) Vilue weighting bias. (2 mnrk:s,\_._
(iti) Stale price bias, (2 mnr_ig#}_i
(b} Celtec Financiai Services Ltd., a weil esiablished investiment bank, submits a weekly column to “investments wcck?;-'.'

magazine. Once published, the columiy usually affects the value of the shares discussed in the weekly column. Jasper
Muitfa, an employee of Celtee Financial Services Ltd., knows that investments weekly magazine is published by
Afrivan publishing. Jasper Mutua's nephew, Joram Kiamba. fuxes him an advance copy of the Celtic Financial’
Scrvices Ltd."s article before the magnzine is prinred and distribuied (o the public. Iasper Mutua regularly trades jn’
the securities mentioned in ‘the Celtic Financial Services Lid. weekly colump prior o ihe distribution of (he
investimenls weekly magazine and to date, he has vealised a personal profit of Sh.2 million as wel) a5 significant
profits for his clients. ' :

Required:
With reference 1o the information given above, explain the ethical standard(s) violated by Fasper Mutua (5 marks)
{c) The f'nlluwiig information relates to MNeno Aparunents for the yvear ended 30 November 2012:

L The gross income for the year was Sh.2.400,000. The vacancy and colleetion lasses are 2.5% of the potential
2TOSS incume, " ;

2 Operating expenses excluding property management fegs is Sh.660,000,

2 Property management fees is 4%, The oulstaniding smorigage on the property is Sh.20 million while its
purehase price was Sh.70 million, g

4, The annuat debTTEIVIce, including the principal, is Sh'1,060,000 per year. E

Required: x i

(i) The cap rate, = //ﬁfw‘/ v f5 marks)

s
14) The return on equity (ROE). 2

* QUESTION THREE ' =

. I {4 marks)
Crotal: 20 marks)

(a) Discuss five charcteristics of property investmenls, i '(IU marks )
ihy Describe three types of marigage desipns, {3 marks)
(c) Johm Ruiere, a manager at BET psse Managemza, decides 10 make an investment in COM Group of Companies, Ar

2.00 i, the broker receives an order from John Rutere to tary 100.000 shares of CCM Group of Companies. The
CLITERL Marker price is Sh.15 per share. The broker was given a discretion with regard 1o the timing and number of
shares to be purchased. At the tims the broker places a buy order. the market price is Sh.15.50 per share. An hour
later, the broker manages 1o buy 60,000 shares at Sh.15.75 per share plus an additional Sh.0,05 commission, Dug 10
marker canditions, John Rutere cancels ihe remaining order of 40,000 shares, CCM Group of Conipanies closes the
sale at Sh.16.00 per share on & valuine of 120,000 shares. Ten days later, COM Group of Companies closes the sale at
SIL18.00 perishare. ;

Required: .
he 1otal wading cost for CCM Group of Companies investment on 4 T o
{Total: 20 maris




QUESTION FOUK .
{a) The Retirement Renelits Authority in vour country requires each retirement benefils sclieme 1o obain the services of &

wegistered fund manager. The fund mansger must be leensed by the Retirement Benefits Authority an an aunual

basis,

Required;

Discuss four challenges that the fund manager i3 likely to face when managing the funds of the pension scheme's

assets. (8 marks)
thy Sumon Mamba is a financial analyst working with Akimbo Investment Group. For the annual asset allocation review,

Simon Manba las prepared the sel of matket expectations shown below:

Capiral market expectations

. Correlations
Assel class Expecred returns(%)  Swndard deviation (%) 1 2 3 4
1. Lascal equities 56 0 1ok
2. Offshore sguities 6.7 13 063 1.00
3. Loecal bonds i1 10 .34 0.25 100
4. Real estate 50 12 50 B35 017 100

Based on the above capitat marker expectations, Simon Maimba has developed the following analysis:

Corner portiolios
Asset class portfolie welghts (%)

Purtfolio Expected Standard Sharpe = 1 2 3 4
refurns{ %) devintion (%) ratio B
: g .
i B.60) 20.00 0,330 - 5’ 10000 000 0.00 0.00
2 79 16.78 0352 63.53 - 3647 000 7 odo
3 735 1548 0.358 3322 3143 dfw 958
4 5.03 842 03860 000 2470 433 32.00
3 4,69 813 0326 . (Lod 1090 3556 33.53
Additional information: : e : ;
1 Akimbu investment group’s spending rate is 3.5%, the expected long-tsrm inflation rate is 2.25% and the cost
of investment refurns has averaged 43.6 basis poinis annustly,
i Akimbo investment group has mubtiplicative relurns requirement baved on the spending raie, and the cost of
. earning invesiment returm.
Required:
(id Deseribe how corner panfoims arise. {2 marks)
{ii) Compute Akimbo [nvestments Group’s return requirement in pereeat. ' .{2 miarks)
(iii} Comrast the calculated investmem retum requirement in (b) (it) above 1o an additive retam raquirement
based on the same input. . [ {2 marks)
C tiv) Recommend the strategic asset allocation that Simen Mamby should present for approval st the ause:
allocation review, {6 marks}
QUEST!UN FIVE {1 ofa]:;ﬂ maris)
() Explain four char acterisiics of benchmarks used, 'J}' usset managers when monitoring fund performance. (8 marks}

(b) Hussein Menza bought 150,000 shares of HHH Lir‘n’itpd on | January 2010 at 2 price of Sh.156.30 per share. A
dividend of £h.10 per share wee paid on 1 Janvary 2011, He did not reinvest this dividend...

On | January 2012, Hussein Menza coliecied a dividend of Sh. 15 per share and sold the remaining shares at §h.170

per share.

Required:

{i} The time weighted rate of return on Hussein Menza’s portfolio. . (7 marks)

{11} Explain a set of circumstances under which rm)f\ay weighted rate of return would bean appropriate measu

) ~lor Hissein Menza’s portfolio. (2 marksh
ic Highlighs three advantnges of using u synthetic collaceralised debt ubhg.auon in comparison to cush collateralised debs

obligation. ! ; (3 mirks}

{Tatal; 20 marks;
= ASSETMAMAGEMENT

0T ML

THURSDAY: 31 May 2012, Time Allowed: 3 hours,

Answer ALL questions. “Marks allocated to cach guestion arce shown at the em‘l of the guestion. Shew ALL yonr -

workings.

(’ 2,(1:) The coupon curve of prices for @ pass through securiiy for somne months:s as follows:

QUESTION ONE

fa) Assess six financial facters that an investor should take § inio ‘considevation when making buy-versus- lcacc decisions on
corporate real assets. s {6 marks)

{b) Simon Karjuki wishes to invest in a collective investment scheme (C1S), He has leant that you ave pursuing the

Certified Securities and [nvestment Analysts qualification and has therefore approached you for gu:damc on whether
to invest in the eoliective investment scheme {193

Reguired:
Evaluate seven benefits associated with collective investment schemes, {10 marfs)
() A securities and investment analyst is using an analytical system to value tranche M of a collateralised mortgage

chiigation (CMO)-deel. The Monte Carlo simulation mode| vses sight representative Interbst rate paths. The pressmt
value of cach of the representative interest rate paths and the wiight of each path are shown balow:

Representative path 1 ) 3 14 5 6 7 8

Weight of representative path (%4) 20 18 16 12 12 12 [ 4

Present value of representative path T 82 75 68 74 36 91 93

Required: .

Compute the thegretical vatue of rranche M, (4 maiks)

: ’ (Total: 20 marks)

QUESTION TWO
(a) Explain four classes of fees for mutual funds. . (4 marks)
(h) Aninvestor’s pertfolio is currently worth 811 million, Dufing the year 2012, the investor sells 1,000 shares of Bobtel

Ltd, at & price of 5h.80 per share and 2,004 shares of Dobtel Lid. at a price of Sh.dl per share. The progeeds are used
to-buy 1,600 sharss of Taptel Ltd. at Sh.100 per share.

s
Required:
Portfolic tumover rate. {3 marks)
() Mary Baraga, & securities analyse, has provided the following data for g particutar period:
Portiolio ' Market

Average return 3% 28%

Beta P20 1.00

Standard deviation 490 0%

Tracking error (Mon-systematic risk), o (&) LB5% 0%

The treasury bill rate was 6% during the period.

Required:

P
Compute any four performance measures for portfolio P and the market. I“S asks)

() To mitigate the effects of the ongoing global financial crisis, profassionals in l]h. invet have fitioe

concentration on the study of the securitisation process.

As a professionad in this (eld, explain five basic parties involved in the process of securitisation, {5 marks)
X (Total: 20 marks)

QUESTION THREE

L Daseribe the lulluwma financing and 'mestmcm vehicles:
{) Wiorigage pass through securities, {2 marks) .
{ii) Mertzage pay-thraugh bonds. ) 2 mark:j
b Golfateralised morcsage obiigations. . - (2 marke .
) Tdentify thres factors that influence the pricing-of a mortgage pass tirough security and & mortgage b"lck»{. wec;:::;rkh]

Coupon (Vo) Priec (Sh.)
7 94.00
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T 99.50.
¥

11 10525
12 106.19
Reyuired: )
Coupon curve duration for the 9% coupon pass through security. {5 marks)
{d) Exemine three roles plavad.by pooled assefs fund fidiagers, "o . {6 marks)

{Total: 20 marks)

QUEST[ON FOUR

{a) All People University (APU) is an education instiuton with an endowment find for the purpese of providing '

ﬁnar'ual support 1o supplement the university budget, The spending rule for the endowment is 4% of the market
valug of its investment portfolio as of the previons year, Last year's investment portfolio was Sh.500 million which
represented 5% of the uperating budget for All People University.

The University’s operating expenses are expected o grow at a nominal rate of 5% per year. The inflation rate as
measured by the central bureaw of statistics (CES) i3 894 per year, The investment management expense is 0.65% and
All People University expects a similar level of endowment support, indexed to inflation in ils costs in future years.

Reguired:
] Formulate the return requirement for All People University (APL) endowment investment policy statement.
{4 marls)
(i} Interpret the answer in (a) (i) abova, {2 marks)
(e
iy Caontraction risk. ; ;W HAK fﬁi
d i T
(it Extension risk.
c) In relation to credit card receivable backad securitios:
i) Expiain the term “lock out period”. {"g,énamq)
{ii) Discuss the importance of monthly payment rate (MPR). ‘(4 marks)
() Summar_i.sc Taur risks faced by the defined benefit pension vlans. i © {4 marks)
QUESTION FIVE : - {Tofai: 20 marks)
{a) Hxplain five charactesistics of an | fi ing ir o
" - angel financing investments, (3 marks)
() Diseuss three categories of credit enfancement mechanism. [
(6 marks)
te) James Kamakal has i  denler’ s . ’ :
(Bps). ) reseived the dealer quotes on morigage backed secwrities (MBS} given below in basis paints
- : Dealer Quotes
Traache opsﬁgn Adjusted Zerovolatility Nominal  EMective
5 ?“:*Bd thps) Spread (bps) Spread (bps)  Duratien (Years)
s o éag ; 68 1.50
c ‘2 ; 85 3.00
= 120 128 5.00
St {52 - 150 156 400
3 165 78 . 1100
Required: ) :
(i} For each tranche, generate the cost of embedded oprion in basis points. (3 marks)
L
{ii) The most expensive tranche in ferms of opticn cost, (3 marks)
{d) ~ Benson Birungu, a Certified Securities and Investment Analyst manages a pool of a._sécis_For. several wealthy clients.

RRecently, Bernard Mutaku, one of the clients informed Benson Birungu that he was under investigation by revenue
authority officials for tax cvasion refated 1o his business, After learning about the investigations, Benson Birungu
shared the information with a friend who worked at a local investment bank which was underwriting an imitial public
offering for one of Bernard Mutaku's firms.

Required: 2 s

Clt?ng relevant reasons, explain whether Benson Birunga violated (he code of ethics und standards of pmul(.;e in Ll;e\

marks}

T . ' R~ N (T otal! 20 marks)
Lot SCBIAC PART I SEC TION 5 -ASSET MANAGEMENT : .- W N

THURSDAY: 1 Deceinber 2011. o T o Nk , Time ,eultmcd":! hours.
Answer ALL questions. Marks allocated to each question are shown af the end of thc qumhm. Show ALL your. worl-nnfs.

QUESTION ONE St b
(a) . Differentiate berween 'prmcipal only strips” and "ultcr:'slnnly BIRST. . L Lt - v 0 DTS

'(la} . A pool of nwrrgagc Ioan is facing defaujt due to the djfﬂ{rult emnormc condjtions in the tegion. The default losn
‘balance for month 66 is Sh.10 million. The beginning mrlgage balsnce s.nd sr.‘heduled prmmpal pa}'ment for: mumb
66 i5 $h.2,500 millicn and Sh.6 million respecnvely L

Requoired:

Compute the conditional default rate (CDR). O (4 marks)

(c) A manager for a pool of a cullaielalmcd mortgagt obhgauon faces mcmsmg pressure fmm investors faciz g
reinvestient risk to create an aceral tranche or a Z bond, The patent franche from awhich the. ? bund 15 bemg creab d
,has a face value of Sh.150 m]lhmp with a Li)llp()ﬁ rate oi 10% and a luck out of § years.

-Ri:qumad' ) P L !
o Lalculdie the amount of face value of the Z bond to be greated, i {4 mark 1y

: (ZI.In‘-.ia_rk'-}

(i) Qutline 10 the manager how he could increase the amount of the Z bond creared.

@ Identify the steps used in the monte carlo simulation methodology to value a morlgage security, | “ malk)
' ¥ j i i (Total: 20 marks) -

7V L= e L D St e 12 b ’ CERATE et

QUESTION TWO gl g SRR

{a) Disguss four advantages of the SWap CUIVO OVer a government bend yic]d curve. {81 .m.afk =} .

(b) Bluc Lake Ltd,, 2 local fund maual,emem wnh @ mandate (o invest through third pal h.as o :\.n;d‘m gloha[ Ayei
muanagement company.  The following information relates to new copital; operating rcsults and tedenqmcps of e
globaj asset manager of an investment fund, who follows a srrate;,y of i mvasnng 1n a variery of porrtb‘.lm companies:.

-Year ,. 20[55 - DG 207 C . - 2008 . - Il][l? il

L © U 8h I‘mll!uﬂ bh “million”  Sh.*million”’ Sh “mlllinn" Sh. n‘u!!mn" : SII “ml]lmu"
New capital S50 15 (1] o A L o
Realised results 0- g {0 FER L RS TR ;
Unrealised results 5 -15 15 % 10 i A 25
Redemptions o W 8 7l W T 78

' The g,inbal BSSEl MAnager chnrgz..s # management fee of 2% and a carried interest 0?20%. “The hctual size Df the ﬂmd i
oo 8h25 million. Blue Lake Ltd. “has decided to evalyate the performance of the .fund |J)f caiculahng ihe net mtcmal Tat ¢
e of return {IRR) 10 determine whether to '::!d more funds or liquidate same of the i mveslmts he!dw:lh the gJDb.ul asget

, manugu:mr:nl LDITII}QTI}'

Required: .

Calculate the net IRR, - . ; 2 o (12 miarkes)
QUESTION THREE _ ' - [Tolaf; 20 marks)
{8) Hxplain four perspectives of real estate analysis 0 3 real estate developer. : niarks)

) Mz, Daniel Barozi intends 10 purchase (throngh 2 fncmgﬂ.gc arangement) an apaciment valued at Sh.12 million, The
mortgage provider requires 10% deposit in-order to finance the mortgage. In addition, Mr. Barozi witl be required to

+ -pay legal fees of 2% of the value of the house snd an insurance of 0.1% which are f‘actared wn{un the cm:!.racl zuLI are

" once off upfront deductions.

".l‘he moiigage Tale 35 11.89% per arinim calculated on aFidicing balanee basis. The repayiiient period 1S 15 years.

i Reqmrcd. s ' ; A=
1} " Calentate the monthly loan repayment, Mr, Barozi would be expected (o pay. : ST 6 marks)

5,16 be asdifned. The Jease provides for only ane rentreview affef tea yéars'

P (€) © A twenty year lease onag indusirial u
) ' "and lizs ani unexpired term of four years.




	CF53 Alternative Investments Analysis.pdf
	AIA.pdf
	CF53 Alternative Investments Analysis.pdf
	CF53 Alternative Investment Analysis.pdf
	CF53 Alternative Investments Analysis.pdf
	CF53 Alternative Investments Analysis.pdf
	CF53 Alternative Investments Analysis.pdf
	CF53 Alternative Investments Analysis.pdf
	CF53 Alternative Investments Analysis.pdf
	CF53 Alternative Investments Analysis.pdf
	CF53 Alternative Investments Analysis.pdf
	CF53 Alternative Investments Analysis.pdf

	AIA PAST PAPERS.pdf
	AIA.pdf
	AIA PAST PAPERS.pdf
	AIA.pdf
	AIA PP NEW.pdf



